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Read the following instruction carefully 
before you answer the questions. Answer 
are to be marked on a SEPARATE O.M.R. 
SHEET

1. Please write your Centre Code No. 
and Roll No. very clearly (only one 
digit in one block) as given on your 
admission card and even zeros 
appearing in the Centre Code No. 
and Roll No. are correctly written in 
the appropriate blocks on O.M.R. 
Sheet.

Example:

Haryana State Level Talent Search Examination 2013
gfj;k.kk jkT; Lrjh; izfrHkk [kkst ijh{kk  2013

(For students in Class 10th)
d{kk nloha esa vè;;ujr~ fo|kfFkZ;ksa ds fy,

State Council of Educational Research and Training Haryana, Gurgaon
jkT; ’kSf{kd vuqlaèkku ,oa izf’k{k.k ifj"kn~ gfj;k.kk] xqM+xk¡o

Time Allowed : 3 Hours
Maximum Marks : 180

iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa 
dks è;ku ls if<+,A mÙkj ,d vyx vks-,e-vkj- 
’khV ij vafdr djus gSaA

1. viuk dsUnz dksM uEcj rFkk jksy uEcj 
tSlk fd vkids izos’k&i=k esa fn;k x;k gS] 
Li"Vr;k ¼,d pkS[kVs esa dsoy ,d vad½ 
fyf[k,A ;gk¡ rd fd vkids dsUnz dksM 
uEcj rFkk jksy uEcj esa vius okys ’kwU; 
ds vad Hkh vks-,e-vkj- ’khV ij lgh 
pkS[kVs esa fy[ks tk,¡A

mnkgj.k

Scheme 
Code

State 
Code

Year Centre Code Roll No.

2 2 7 1 3

le; % 3 ?kaVs
iw.kk±d % 180

Instructions to the Candidates
ijh{kkfFkZ;ksa ds fy, funsZ’k

Scheme 
Code

State 
Code

Year Centre Code Roll No.

2 2 7 1 42112113

Ldhe
dksM

jkT; 
dksM

o"kZ dsUnz dksM vuqØekad

2 2 7 1 42112113
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2. This test has three parts. Part I has 50 
questions, part II has 40 questions 
and part III has 90 questions .

3. Each question carries one mark.

4. Since the time allotted to the three 
parts of this question-paper is very 
limited, you should make the best use 
of it by not spending too much time on 
any question.

5. Extra page has been provided for 
rough work at the end of question 
paper.

6. Do not mark more than one option of 
any question on OMR sheet 
otherwise answer will be cancelled.

7. Avoid cutting /  overwriting / use of 
fluid on Page No. 2 of  OMR Sheet 
otherwise answer will be cancelled.

8. Attempt each question, there is no 
negative marking in this test.

9.

Note:Do not write anything except the 
Roll Number and rough work 
anywhere in the booklet.

Language Test is treated only as a 
qualifying test. Marks obtained in 
Languages test will not been Included 
in the Total Marks

2. ;g ijh{kk rhu Hkkxksa esa gSA igys Hkkx esa 
50 iz’u nwljs Hkkx esa 40 iz’u gS vkSj 
rhljs Hkkx esa 90 iz’u gSaA

3. izR;sd iz’u dk ,d vad gSA

4. pwafd bl iz’u&i=k ds rhuksa Hkkxksa ds fy, 
fuèkkZfjr le; lhfer gS] blfy, bldk 
vfèkdre lnqi;ksx dhft, vkSj fdlh 
iz’u ij cgqr le; u yxkb,A

5. iz’u iqfLrdk ds var esa jQ dk;Z ds fy, 
vfrfjDr i‘"B fn;k x;k gSA

6. vks-,e-vkj- ’khV ij fdlh Hkh iz’u ds ,d 
vfèkd fodYi ekdZ u djsa ojuk mÙkj 
fujLr gks tk,xkA

7. vks-,e-vkj- ’khV dh i‘"B 2 ij dfVax@ 
vksoj jkbfVax@¶ywM dk iz;ksx u djsa 
ojuk mÙkj fujLr gks tk;sxkA

8. izR;sd iz’u gy dhft,] bl ijh{k.k esa 
dksbZ udkjkRed vadu ugha gSA

uksV% bl iqfLrd esa viuk vuqØekad fy[kus 
vkSj jQ dk;Z djus ds vfrfjDr vkSj 
dqN ugha fyf[k,A

9. Hkk"kk ijh{kk esa ek=k ikl gksuk vko’;d gSA 
dqy izkIr vadksa esa Hkk"kk ds vadksa dks ugha 
tksM+k tk;sxkA
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PART-I  ¼Hkkx-I½
MENTAL ABILITY TEST

ckSf)d ;ksX;rk ijh{k.k
Questions: 1 to 50

iz-1 ;fn fdlh ^dksM* esa ADMIRE dks 
AIDRME fy[kk tkrk gS rks ml dksM esa 
ADORES dks fdl izdkj fy[kk 
tk,xk\

(1) AODRSE

(2) ARDESO

(3) ARDEOS

(4) AREDOS

iz-2 fuEufyf[kr v{kj lewgksa esa ls dkSu lk 
lewg vU; ls fHkUu gSa\

(1) DCBFE

(2) JKIHL

(3) TSRQU

(4) 

iz-3 ;fn fdlh ̂ dksM* esa 'facing problems 

with health' dks 'mlp hlt ngi snk' ls 
iznf’kZr djsa 'rise with every 

challenge' dks 'snk, rtv, lne riy' ls 
iznf’kZr djsa facing challenge each 

day dks 'ngi riy nop hus' ls iznf’kZr 
djs 'health problems on rise' dks 'hlt 

sa rtv mlp' ls iznf’kZr djs rks fdldk 
'riy snk mlp' dksM gks ldrk gS

(1) problems every day

(2) with health day

(3) facing every challenge

(4) challenge with health

UWXZY

Q.1 If in a certain code ADMIRE is 
written as AIDRME, then how 
would ADORES be written in the 
same code?

(1) AODRSE

(2) ARDESO

(3) ARDEOS

(4) AREDOS

Q.2 Which group of letters is different 
from others?

(1) DCBFE

(2) JKIHL

(3) TSRQU

(4) UWXZY

Q.3 If in a certain code 'facing 
problems with health' is coded as 
'mlp hlt ngi snk' 'rise with every 
challenge' is coded as 'snk, rtv, lne 
riy' facing challenge each day is 
coded as  'ngi riy nop hus'. 'health 
problems on rise' is coded as 'hlt 
sa rtv mlp' then whose code can be 
'riy snk mlp'

(1) problems every day

(2) with health day

(3) facing every challenge

(4) challenge with health
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iz-4 vaxzsth o.kZekyk ds NksVs v{kjksa dh ,d 
Ük‘a[kyk nh xbZ gS] tks ,d fuf’pr Øe esa 
gSA dqN v{kj Üka‘[kyk ls xk;c gSaA v{kjksa 
dk ,d lgh lewg uhps fn, x, fodYiksa 
esa ls Nk¡fV,] ftuls fjDr LFkkuksa dh iwfrZ 
dh tk ldsA 

_a_b_abaa_bab_abb

(1) aaabb

(2) ababb

(3) babab

(4) babba

funsZ’k ¼iz- 5 ls 6½

vad fdlh fu;e ds vk/kkj ij fy[ks x, gSaA 
mlh fu;e ds vk/kkj ij iz’u okpd fpUg ds 
LFkku ij dkSu lk vad vk,xk\

iz-5 445, 221, 109, 53, 25, 11, ?

(1) 2 

(2) 4 

(3) 6 

(4) 8

iz-6 6, 15, 35, 77, 143, ?

(1) 171 

(2) 181 

(3) 191 

(4) 221

Q.4 A series of small letters is given 
which follow a certain pattern. 
However some letters are missing 
from the series. You have to find 
out the right set of letters from 
alternatives that can be inserted 
into the blanks of the series.

_a_b_abaa_bab_abb

(1) aaabb

(2) ababb

(3) babab

(4) babba

Directions : (Q. 5 - 6) 

The numbers have been arranged under 
some rule. Based on that rule, which 
number will come in place of the 
question mark?

Q.5 445, 221, 109, 53, 25, 11, ?

(1) 2 

(2) 4 

(3) 6 

(4) 8

Q.6 6, 15, 35, 77, 143, ?

(1) 171 

(2) 181 

(3) 191 

(4) 221
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Directions : (Q. 7 -9)

In each of the following figures, 
numbers are written according to some 
patterns and one number is missing, 
shown by question mark. Find the 
missing number that replaces the 
question mark.

Q.7

(1) 84

(2) 195

(3) 240

(4) 275

Q.8

(1) 1

(2) 2

(3) 6

(4) 10

Q.9

(1) 15

(2) 18

(3) 20

(4) 25

funsZ’k ¼iz- 7 ls 9½

uhps nh xbZ izR;sd vkd‘fr esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls ,d 
la[;k yqIr gS] ftls iz’u fpUg ls n’kkZ;k x;k 
gSA yqIr la[;k Kkr djks tks iz’u fpUg ds 
LFkku ij mi;qDr gksA

iz-7

(1) 84

(2) 195

(3) 240

(4) 275

iz-8

(1) 1

(2) 2

(3) 6

(4) 10

iz-9

(1) 15

(2) 18

(3) 20

(4) 25

168

62

23

120

53

12

?

32

4 5

168

62

23

120

53

12

?

32

4 5

25

3

4

6 2 70

7

6

11 8 -12

1

?

4 5 25

3

4

6 2 70

7

6

11 8 -12

1

?

4 5

28

945

35 12

?

84

720 28

945

35 12

?

84

720
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iz-10 fn, x, fp=k esa iz’u okpd fpUg (?) 
ds LFkku ij dkSu lk v{kj vk,xk\

(1) M
(2) L

(3) N

(4) R

iz-11 nh xbZ vkd‘fr esa f=kHkqtksa dh la[;k 
fdruh gS\

(1) 11

(2) 13

(3) 15

(4) 17

iz-12 vkd‘fr ¼x½ dks niZ.k esa ns[kus ij dSlh 
fn[kkbZ nsxh] lkFk fn, x, pkj fodYiksa 
esa ls lgh mÙkj Nk¡fV,A niZ.k dks js[kk 
MN }kjk iznf’kZr fd;k x;k gSA

Q.10 Find the letter to be placed in place 
of '?' in the figure given.

(1) M

(2) L

(3) N

(4) R

Q.11 How many triangles are in the 
given figure?

(1) 11

(2) 13

(3) 15

(4) 17

Q.12 Choose the correct mirror image of 
the figure (X) from four alternatives 
given along with it. The mirror has 
been represented by a line MN.

1

3

2

F

4

C

8

6

5

2

J

4

?

8

3

2

1

3

2

F

4

C

8

6

5

2

J

4

?

8

3

2

M N

(x) (1) (2) (3) (4)

M N

(x) (1) (2) (3) (4)
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iz-13 ,d ?kM+h niZ.k esa ns[kus ij le; lok 
rhu cts n’kkZrh gSA ?kM+h esa lgh le; 
D;k gS\

(1) 9:45

(2) 9:15

(3) 8:45

(4) 3:15

iz-14 vkd‘fr (x) ikuh esa ns[kus ij dSlh 
fn[kkbZ nsxh] fn, x, pkj fodYiksa esa ls 
lgh mÙkj Nk¡fV,A

iz-15 fn, x, pkj fodYiksa (1), (2), (3)  o (4) 
esa ls dkSu lh vkd‘fr ,slh gS tks vkd‘fr 
(x) esa n’kkZ, x, fcUnqvksa ds LFkku dh 
fLFkfr ls esy [kkrh gS\

Q.13 A clock seen through a mirror 
shows quarter past three. What is 
the correct time?

(1) 9:45

(2) 9:15

(3) 8:45

(4) 3:15

Q.14 Choose the correct water image of 
the figure (X) from the four 
alternatives given along with it.

Q.15 Among all the alternatives marked 
(1), (2), (3) and (4), select the one 
which satisfies the same condition 
of placement of the dot (s) as in Fig 
(X). 

(x)

(1)

(3)

(2)

(4)

(x)

(1)

(3)

(2)

(4)

(x) (1) (2) (3) (4) (x) (1) (2) (3) (4)



8

iz-16 ml fodYi dks Nk¡fV, tks nh xbZ vkd‘fr 
¼x½ dks ,d ?ku esa eksM+ nsus ij izkIr 
gksxk

(1) dsoy A & B 

(2) dsoy B & C 

(3) dsoy B & D 

(4) A, B, C rFkk D
iz-17 ,d gh ikls dh pkj fLFkfr;k¡ fn[kkbZ 

xbZ gSaA la[;k 6 dkSu lh la[;k okys 
Qyd ds foijhr gksxh\

(1) 2

(2) 3

(3) 4

(4) 5

iz-18 ,d gh ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSa 
dkSu lh la[;k 3 la[;k okys Qyd ds 
foijhr gksxh\

(1) 2

(2) 4

(3)  5

(4) 6

Q.16 Choose the alternative which will 
be formed after folding the fig (X) 
into a cube.

(1) A & B only

(2) B & C only

(3) B & D only

(4) A, B, C and D

Q.17 Four positions of a dice are shown 
opposite to which face number 6 
will appear.

(1) 2

(2) 3

(3) 4

(4) 5

Q.18 Two positions of a dice are shown. 
Which number will appear on the 
face opposite the one having 3?

(1) 2

(2) 4

(3)  5

(4) 6

A

C

B

D

A

C

B

D

5
1 3

3
4 5

4
3 2

2
3 1

5
1 3

3
4 5

4
3 2

2
3 1

1
2 3

5
2 1

1
2 3

5
2 1

(X) (X)
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Directions : (Q. 19 - 20)

In each question two or three statements 
followed by two conclusions numbered I 
and II are given. Decide which of the 
given conclusions logically follows the 
g iven s ta tements  d isregard ing 
commonly known facts. Give answer:

(1) If only conclusion I follows

(2) If only conclusion II follows

(3) If both I and II follows

(4) If neither I nor II follows

Q.19 Statements: 

Some pencils are blankets.

All blankets are erasers.

Conclusion:

I. No eraser is a pencil

II. All blankets to be pencils is 
a possibility.

Q.20 Statements:

All stars are bottles

Some bottles are papers

No paper is a calendar

Conclusion:

I. All stars to be papers is a 
possibility

II. No Calendar is a bottle.

funsZ’k ¼iz- 19 ls 20½

izR;sd iz’u esa nks ;k rhu dFku rFkk muds ckn 
nks fu"d"kZ I o II fn, x, gSaA dFkuksa dks lR; 
ekurs gq, r; dhft, fd dkSu lk fn;k x;k 
fu"d"kZ fn, x, dFkuksa dk rkfdZd :i ls 
vuqlj.k djrk gSA Hkys gh loZKkr rF; dqN 
Hkh gksA mÙkj nhft,%&

(1) ;fn dsoy fu"d"kZ I vuqlj.k djrk gS

(2) ;fn dsoy fu"d"kZ II vuqlj.k djrk gS 

(3) ;fn nksuksa fu"d"kZ I o II vuqlj.k djrs gS

(4) ;fn uk rks fu"d"kZ I uk gh fu"d"kZ II 

vuqlj.k djrk gSA 

iz-19 dFku%&

dqN isaflysa dEcy gSaA

lHkh dEcy bjsT+kj gSaA

fu"d"kZ%&

I. dksbZ bjsT+kj isafly ugha gSA

II. lHkh dEcyksa ds isafly gksus dh ,d 
lEHkkouk gSaA

iz-20 dFku%&

lHkh flrkjs cksrysa gSaA

dqN cksrysa dkxT+k gSaA

dksbZ Hkh dkxT+k dSysUMj ugha gSaA

fu"d"kZ%&

I. lHkh flrkjksa ds dkxT+k gksus dh ,d 
lEHkkouk gSA

II. dksbZ Hkh dSysUMj] cksry ugha gSA
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Q.21 Which one of the following 
diagram best indicate the relation 
ship among Tennis fans, Cricket 
Players and students?

Directions : (Q. 22 - 23)

The questions are based on the 
following diagrams. Study the diagrams 
carefully and answer the questions.

Q.22 What is true for F?

(1) A l l  H o n e s t  E u r o p e a n  
swimmers.

(2) All Honest Advocates who are 
swimmers also.

(3) All non-European Advocates 
who are honest swimmers.

(4) All non-European who are 
honest swimmers.

iz-21 dkSu lh vkd‘fr Vsful iz’kald] fØdsV 
f[kykM+h rFkk fo|kFkhZ ds lEcU/k dks lgh 
n’kkZrh gS\

  

funsZ’k ¼iz- 22 ls 23½
lHkh iz’u fuEufyf[kr fp=k ij vk/kkfjr gSaA 
fp=k dk lko/kkuh ls vè;;u djks rFkk iz’uksa ds 
mÙkj nksA

iz-22 F ds fy, D;k lR; gS\

(1) lHkh bZekunkj ;wjksfi;u rSjkdA

(2) lHkh bZekunkj odhy tks rSjkd Hkh 
gSaA

(3) lHkh cxSj&;wjksfi;u odhy tks 
bZekunkj rSjkd gSA

(4) lHkh cxSj ;wjksfi;u tks bZekunkj 
rSjkd gSaA

(1) (1)(2) (2)(3) (3)(4) (4)

A 

B 

C 

D 
E 

F G 
H 

I 

J 

K 
L 

M

Honest
Advocates

>

>>

Swimmers
European
>

A 

B 

C 

D 
E 

F G 
H 

I 

J 

K 
L 

M

bZekunkj odhy

>

>>

rSjkd
;wjksfi;u
>
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Q.23 The advocates from Europe who 
are dishonest swimmers is 
denoted by?

(1) J

(2) K

(3) L

(4) H

Directions : (Q. 24 to 25)

Radha is wife of Mohan. She has three 
sons respectively as older - Suresh, 
Rakesh and Satish. Bimla is only 
daughter of Radha. She is youngest. 
Name of their wives are Sudha, Savita 
and Sita respectively. Mr Raghunath is 
husband of Bimla. Suresh has two 
daughters as Kamla and Sarla. He has a 
son Deepak. Rakesh has three sons 
namely as Sohan, Ramu and Kewal. 
Satish has one son (Shrikant) one 
daughter (Shobha). Bimla has also one 
son (Sagar) and one daughter (Sarika).

Q.24 Bimla is related to Kamla as

(1) Sister

(2) Aunt

(3) Niece

(4) Grand Mother

Q.25 How many members are there in 
the family?

(1) 16

(2) 18

(3) 19

(4) 20

iz-23 ;wjksi ds odhy tks csbZeku rSjkd gSa dks 
n’kkZ;k tkrk gS&

(1) J

(2) K

(3) L

(4) H

funsZ’k ¼iz- 24 ls 25½
jk/kk eksgu dh iRuh gSA mlds rhu yM+ds gSa 
lqjs’k mldk cM+k yM+dk gS] fQj jkds’k gS vkSj 
fQj lrh’kA jk/kk dh ,d gh yM+dh fceyk gSA 
og lcls NksVh gSA mudh ifRu;ksa ds uke 
Øe’k% lq/kk lfork vkSj lhrk gSaA fceyk ds 
ifr dk uke j?kqukFk gSA lqjs’k dh nks yM+fd;k¡ 
deyk o ljyk gSa vkSj ,d yM+dk ¼nhid½ gSA 
jkds’k ds rhu yM+ds lksgu] jkew o dsoy gSaA 
lrh’k dks ,d yM+dk ^JhdkUr* gSA vkSj ,d 
yM+dh ’kksHkk gSA fceyk dh Hkh ,d yM+dh 
lkfjdk o ,d yM+dk lkxj gSA

iz-24 fceyk dk deyk ls D;k lEcU/k gS\

(1) cgu

(2) cqvk

(3) Hkrhth

(4) nknh

iz-25 ifjokj esa dqy fdrus lnL; gS\

(1) 16

(2) 18

(3) 19

(4) 20
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Q.26 B, the son of A was married to C, 
whose sister D was married to E, 
the brother of B. How D is related to 
A?

(1) Sister

(2) Daughter-in-law

(3) Sister-in-law

(4) Cousin

Q.27 Ram walks 20 metres in front in 
east and 15 metres to the right. 
Then every time turning to his left, 
he walks 5, 30 and 25 metres 
respectively.

How far is he from his starting 
point and in which direction?

(1) 5 metres, South

(2) 10 metres, North

(3) 15 metres, North

(4) 20 metres, East

Q.28 (a) P×Q means Q is mother of P;

(b) P+Q means P is father of Q;

(c) P–Q means P is brother of Q;

(d) P÷Q means Q is sister of P.

Which of the following means 'M is 
niece of T'?

(1) M÷D+T×R

(2) T–D+R÷M

(3) T×D+R÷M

(4) D÷M+R–T

iz-26 B, A dk csVk gS C ls mldh ’kknh gqbZ Fkh] 
ftldh cgu D ls E dh ’kknh gqbZ Fkh] tks 
B dk HkkbZ gSA D dk A  ls D;k lEcU/k gS\

(1) cgu

(2) iq=ko/kw

(3) lkyh

(4) ppsjh cgu

iz-27 jke lkeus iwjc esa 20 ehVj pyrk gS vkSj 
fQj 15 ehVj viuh nkfguh vksjA fQj 
izR;sd ckj og vius ck;sa eqM+dj Øe’k% 
5, 30 vkSj 25 ehVj pyrk gSA

og vius vkjfEHkd LFkku ls fdruh nwj gS 
rFkk fdl fn’kk esa gSA

(1) 5 ehVj] nf{k.k

(2) 10 ehVj] mÙkj

(3) 15 ehVj] mÙkj

(4) 20 ehVj] iwoZ

iz-28 PxQ dk vFkZ gS P dh ekrk Q gSA

P+Q dk vFkZ gS Q dk P firk gSA

P–Q dk vFkZ gS Q dk HkkbZ P gSA

P÷Q dk vFkZ gSA P dh Q cgu gSA

fuEufyf[kr esa ls fdldk vFkZ gS& ^^T 

dh Hkrhth M gS**

(1) M÷D+T×R

(2) T–D+R÷M

(3) T×D+R÷M

(4) D÷M+R–T
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Q.29 Six sides of a cube are coloured in 
the following manner.

If Blue and Orange are opposite 
and Red is on the top, which colour 
will be at the bottom?

(1) Black

(2) White

(3) Orange

(4) Yellow

Q.30 Eight students A, B, C, D, E, F, G 
and H are going to college in two 
cars and following are conditions - 
There are four students in each 
car. 

A is in the same car in which D is 
sitting but H is not in the same car. 

B and C are not in the car in which 
D is sitting. 

F is sitting with A and E. 

Four students sitting in the same 
car are:

(1) A, B, G, H

(2) B, D, F, G

(3) B, C, G, H

(4) A, C, D, E

iz-29 ,d ?ku ds 6 i‘"B fuEu fp=k vuqlkj jax 
fd, x, gSA

;fn Blue rFkk Orange foijhr i‘"Bksa 
ij gksa rFkk Red mij ds i‘"B ij gks rks 
uhps ds i‘"B ij dkSu lk jax gksxk

(1) Black

(2) White

(3) Orange

(4) Yellow

iz-30 vkB fo|kFkhZ A, B, C, D, E, F, G rFkk H 

nks dkjksa ls dkWyst bl izdkj tk jgs gSA 
fd izR;sd dkj esa pkj fo|kFkhZ gS

A ml dkj esa cSBk gS ftlesa D cSBk gS 
ijUrq H ml dkj esa ugha gSA

B rFkk C ml dkj esa ugha gS ftlesa D 

cSBk gSA

F ml dkj esa cSBk gS ftlesa A rFkk E cSBs 
gSA

,d gh dkj esa cSBs pkj fo|kFkhZ gSA

(1) A, B, G, H

(2) B, D, F, G

(3) B, C, G, H

(4) A, C, D, E

Blue

White Red

Blue

White Red

Orange

Black Y l oe l w

Orange

Black Yellow
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Q.31 There are four friends A, B, C and 
D. One of them is a student of 
Biology and plays football and 
basket ball. A and B study 
chemistry. A plays table tennis. 
Both the chemistry student play 
volleyball. D is the student of 
physics. One chemistry student 
also plays cricket. The Physics 
students plays volleyball and 
carom. All the friends play two 
games and study one subject 
each.

who does not play volleyball? 

(1) A

(2) B

(3) C

(4) D

Q.32 27 small cubes are placed in such a 
way that a big cube is formed?

How many cubes are touching 
cube marked A?

(1) 5

(2) 8

(3) 9

(4) 17

iz-31 A, B, C rFkk D pkj fe=k gSa mlesa ls ,d 
tho foKku dk Nk=k gS rFkk QqVcky o 
ckLdsV cky [ksyrk gSA A rFkk B jlk;u 
’kkL=k i<+rs gSA A Vscy Vsful [ksyrk gSA 
nksuksa jlk;u ’kkL=k ds fo|kFkhZ ckWyhcky 
[ksyrs gSa D HkkSfrd ’kkL=k dk fo|kFkhZ gS 
,d jlk;u ’kkL=k dk fo|kFkhZ ̂ fØdsV Hkh 
[ksyrk gSA HkkSfrd ’kkL=k ds fo|kFkhZ 
ckWyhcky rFkk dSje [ksyrs gSA izR;sd 
fe=k nks [ksy [ksyrk gSa rFkk ,d fo"k; 
i<+rk gSA

dkSu ckWyhckWy ugha [ksyrk gS\

(1) A

(2) B

(3) C

(4) D

iz-32 27 NksVs ?kuksa dks bl izdkj j[kk x;k gS 
fd ,d cM+k ?ku cu tk,A

fdrus ?ku A }kjk vafdr ?ku dks Li’kZ 
dj jgs gS\

(1) 5

(2) 8

(3) 9

(4) 17

A A
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Q.33 A ranks fifth in a class. B is eight 
from the last. If C is sixth after A 
and just in the middle of A and B. 
How many students are there in 
the class?

(1) 23

(2) 24

(3) 25

(4) 26

Directions (Q 34-35)

Six persons A, B, C, D, E and F are sitting 
forming a circle and facing towards 
centre. B is between A and C, E is 
between F and D. F is sitting straight 
opposite to A and right to E. 

Q.34 D is between which of the 
following pair?

(1) EF

(2) AE

(3) AB

(4) CF

Q.35 If the positions of B and E are 
interchanged and also that of C & D 
then D will be in between which of 
the following pair?

(1) CB

(2) ED

(3) FD

(4) FE

iz-33 ,d d{kk esa A dk jSad ik¡pok¡ gSA B 

vfUre ls vkBos LFkku ij gS ;fn C, A ls 
NBs LFkku ij rFkk A o B ds Bhd eè; esa 
gks rks d{kk esa dqy fdrus fo|kFkhZ gSa\

(1) 23

(2) 24

(3) 25

(4) 26

funsZ’k ¼iz- 34 ls 35½

Ng O;fDr A, B, C, D, E rFkk F ,d o‘r esa 
bl izdkj cSBs gS fd muds eq¡g o‘r ds dsUnz dh 
vksj gSA B, A rFkk C ds chp esa cSBk gSA E, F 
rFkk D ds chp esa cSBk gSA F, A ds Bhd lkeus 
rFkk E ds nk¡;h vksj cSBk gSA

iz-34 fdl ;qXe ds chp esa D cSBk gS\

(1) EF

(2) AE

(3) AB

(4) CF

iz-35 ;fn B rFkk E ds LFkku ijLij cny fn, 
tk, rFkk C o D ds LFkku Hkh cny fn, 
tk, rks D fdl ;qXe ds chp esa gksxk\

(1) CB

(2) ED

(3) FD

(4) FE

cSBs 
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Q.36 How many quadrilaterals are there 
in the given figure?

(1) 20

(2) 22

(3) 24

(4) 26

Q.37 Which one of the answer figure 
would occupy the next position in 
the problem figure. If they continue 
in the same order.

Problem figure

Answer figure

     

Q.38 Four figures have been given, of 
which three are alike in some way 
and one is different. Choose the 
odd one.

iz-36 nh xbZ vkd‘fr esa dqy fdrus prqHkqZt gSa\

(1) 20

(2) 22

(3) 24

(4) 26

iz-37 ;fn leL;k vkd‘fr leku Øe ls cnys 
rks vxys Øe ij mÙkj vkd‘fr;ksa esa ls 
dkSu lh vkd‘fr LFkku ik,xhA

leL;k vkd‘fr;k¡

mÙkj vkd‘fr;k¡

iz-38 pkj vd‘fr;k¡ nh xbZ gSa ftuesa ls rhu 
vkd‘fr;k¡ fdlh izdkj ls leku gSa vkSj 
,d vkd‘fr fHkUu gSaA fHkUu vkd‘fr dks 
Nk¡fV,A

(1)      (2)           (3)           (4) (1)      (2)           (3)           (4)

(4)(1) (2) (3)(4)(1) (2) (3)



17

Q.39 Figure (X) is embedded in one of 
the given four figures. Trace out 
the correct alternatives.

Q.40 One segment of the given 
design/pattern is missing. Select 
the alternative which will complete 
the design when placed on the 
missing area.

Incomplete figure

Answers figures

Q.41 The first unit contains two figures 
and the second unit contains one 
figure and a question mark. Find 
out which one of the answer 
figures should be placed at 
question mark. 

Problem  figures

Answer  figures

iz-39 fp=k (x)  fn, x, vU; pkj fp=kksa esa ls 
fdlh ,d esa vUr% LFkkfir fd;k x;k gSA 
mfpr fodYi Nk¡fV,A

iz-40 fn, x, uewuk@vfHkdYiuk dk ,d va’k 
yqIr gSA ml fodYi dks pqfu, tks yqIr 
LFkku ij j[kus ij vfHkdYiuk@uewuk 
dks iwjk dj nsxkA

viw.kZ fp=k

mÙkj fp=k

iz-41 igyh bdkbZ esa nks vkd‘fr;k¡ gS o nwljh 
bdkbZ esa ,d vkd‘fr rFkk iz’u fpUgA 
Kkr dhft, fd mÙkj vkd‘fr;ksa esa ls 
dkSu lh vkd‘fr iz’u fpUg ds LFkku ij 
vk,xhA
leL;k vkd‘fr;k¡

mÙkj vkd‘fr;k¡

(4)(1)(x) (2) (3) (4)(1)(x) (2) (3)

(4)(1) (2) (3) (4)(1) (2) (3)

(4)(1) (2) (3)

?

(4)(1) (2) (3)

?



18

Q.42 Find the missing number in the 
series.

1, 2, 2, 4, 16,  ?  , 65536

(1) 276

(2) 256

(3) 198

(4) 64

Q.43 If I + 2 = 5

5 + 6 = 61

Then 3 + 4 = ?

(1) 15

(2) 25

(3) 31

(4) 34

Q.44 Figure below represent a balance 
which symbol replaces(?)

iz-42 nh xbZ la[;k Øe esa yqIr la[;k dks 
[kksft,A

1, 2, 2, 4, 16,  ?  , 65536

(1) 276

(2) 256

(3) 198

(4) 64

iz-43 ;fn  I + 2 = 5

5 + 6 = 61

rks  3 + 4 = ?

(1) 15

(2) 25

(3) 31

(4) 34

iz-44 uhps ds fp=k esa ,d rqyk cukbZ xbZ gSA

iz’uokpd fpUg (?) ds LFkku ij dkSu dk 
fpUg j[kk tk ldrk gSA

?

(1) (2) (3) (4)

?

(1) (2) (3) (4)
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Q.45 An application was received by the 
office clerk in the afternoon of a 
weekday. Next day he forwarded it 
to the table of senior clerk who was 
on leave that day. The senior clerk 
next day evening put up the 
app l ica t ion  to  the  o f f i cer  
concerned. The officer studied the 
application and signed on the 
same day i.e. Friday which day the 
application was received by the 
officer clerk?

(1) Tuesday

(2) Wednesday

(3) Monday

(4) Thursday

Q.46 A monkey climbs 10 metres at the 
beginning of each hour and rest for 
a while when he slips back 5 
metres before he again starts 
climbing in the beginning of next 
hour. If he starts climbing at 8 am, 
at what time will he first touch the 
flag at 50 metres from the ground?

(1) 4 pm

(2) 5 pm

(3) 6 pm

(4) 7 pm

iz-45 dk;kZy; fyfid }kjk ,d izkFkZuk i=k 
lIrkg ds ,d fnu ckn nksigj izkIr 
fd;k x;kA vxys fnu mls ofj"B 
fyfid ds ikl izsf"kr fd;k x;k tks fd 
ml fnu NqV~Vh ij FkkA ofj"B fyfid 
us vxys fnu lk;a izkFkZuk i=k lEcfU/kr 
vf/kdkjh dks izLrqr fd;kA vf/kdkjh us 
izkFkZuk i=k dk vè;;u fd;k rFkk mlh 
fnu gLrk{kj dj fn,A;fn izkFkZuk i=k 
ij ’kqØokj dks vf/kdkjh }kjk gLrk{kj 
fd, x, gksa rks dk;kZy; fyfid }kjk 
izkFkZuk ij fdl fnu izkIr fd;k x;k\

(1) eaxyokj 

(2) cq/kokj

(3) lkseokj

(4) c‘gLirokj

iz-46 ,d canj izR;sd ?kaVs ds ’kq: esa 10 ehVj 
p<+rk gS rFkk ,d {k.k ds fy, foJke 
djrk gS ijUrq vxys ?kUVs ds ’kq: esa 
nksckjk p<+us ls igys og 5 ehVj fQly 
tkrk gSA ;fn og 8 cts izkr% p<+uk ’kq: 
djs rks 50  ehVj Å¡ps èot dks fdrus 
cts Li’kZ dj ysxk\

(1) 4 cts lk;a

(2) 5 cts lk;a

(3) 6 cts lk;a

(4) 7 cts lk;a
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iz-47 ;fn A x B ls rkRi;Z A rFkk B leku vk;q 
ds gS
A + B ls rkRi;Z A, B ls NksVk gSA
A - B ls rkRi;Z B, A ls NksVk gSA 
rks
’kke x eksgu & jhrk $ vkfjQ ls rkRi;Z 
gS& 
(1)  jhrk lcls cM+h gSA
(2)  jhrk lcls NksVh gSA
(3)  vkfjQ lcls NksVk gSA
(4)  vkfjQ ’kke ls NksVk gSA

iz-48 ;fn 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 vadksa dks a, 

b, c, d, e, f, g, h, i, j  }kjk iznf’kZr djus 
ij 135 dks ace fy[kk tkrk gSA rks

(ef x f – ba) ÷ ed leku gS%&
(1) 2

(2) 3 

(3)  4

(4) 5

iz-49 P, Q, R, S pkj ,sls dFku gksa fd 

;fn P lR; gS rks Q lR; gS 
;fn Q lR; gS rks R lR; gS 
;fn S lR; gS rks Q  rFkk R esa ls de ls 
de ,d vlR; gS 
rks fuEufyf[kr esa ls dkSu dk fodYi 
lgh gS\
(1) ;fn P lR; gS rks S vlR; gSA
(2) ;fn S vlR; gS rks Q o R nksuksa 

lR; gSA
(3) ;fn Q rFkk R esa ls de ls de ,d 

vlR; gS rks S vlR; gSA
(4) ;fn Q lR; gS rks S lR; gSA

Q.47 If AXB means A and B are of the 
same age.

A + B means A is younger than B.

A – B means B is younger than A.

Then Sham X Mohan – Reeta + Arif 
means:

(1) Reeta is the oldest

(2) Reeta is the youngest

(3) Arif is the youngest

(4) Arif is younger than Sham

Q.48 If the digits 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 
are substituted by a, b, c, d, e, f, g, 
h, i, j respectively so that 135 is 
written as ace  then

(ef x f – ba) ÷ ed is equal to:

(1) 2
(2) 3 
(3) 4
(4) 5

Q.49 P, Q, R, S are four statements such 
that 

If P is true, then Q is true

If Q is true, then R is true

If S is true then at least one of Q 
and R is false.

Then which of the following is 
correct?

(1) If P is true then S is false

(2) If S is false both Q and R are 
true

(3) If atleast one of Q and r is false 
then S is false

(4) If Q is true then S is true.
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Q.50 Consider a 99 digit number created 
by writing side by side the first fifty 
four natural numbers as follows

1 2 3 4 5 6 7 8 9 10 11 12 13 ......53 54

The above number when divided 
by 8 will leave a remainder of

(1) 6

(2) 4

(3) 2

(4) 0

iz-50 igyh 54 izkd‘frd la[;kvksa dks ,d ds 
lkFk ,d fy[kus ij 99 vadksa dh la[;k 
fuEu vuqlkj cukbZ xbZ gSA

1 2 3 4 5 6 7 8 9 10 11 12 13..... 5354

mijksDr la[;k dks ls foHkkftr djus 
ij ’ks"kQy gksxkA

(1) 6

(2) 4

(3) 2

(4) 0

8 

Directions : (Q 51 - 55) Read the 
following passage and answer the 
questions given after it:

The manager of a well-known firm was 
interviewing applicants for the post of a 
night watchman he had advertised. He was 
very hard of please and always found 
something wrong with each man-one had 
long hair, another small eyes, a third was 
too thin and another too tall.

Among the applicants interviewed by the 
manager for the post was one Ram Krishan. 
He watched all this as he sat in the 
verandah patiently waiting for his turn to be 
interviewed. He resolved to be prepared for 
anything. When his turn came, all went well. 
The manager found nothing wrong with his 
appearance, size or constitution. He was 
handsome, tall and strong. The manager 
was really pleased to see such a well-built 
youngman.

funsZ’k % lcls lgh fodYi dk p;u dhft,&

iz-51 fuEufyf[kr esa ls mfR{kIr o.kZ gSA

(1) M

(2) ³Ä

(3) M+

(4) <

iz-52 ^ladYi* ’kCn esa fdl milxZ dk iz;ksx 
gqvk gSA

(1) l³~

(2) le~Ä

(3) lu~+

(4) l

uksV % vks- ,e- vkj- ’khV ds i‘"B 1 ds Øekad 3 

esa Hkk"kk dk fodYi vo’; HkjsaA
Note: Must fill Language Option of 
Page1 at Sr. No. 3 of O.M.R. Sheet

English Language

PART-II  ¼Hkkx-II½
LANGUAGE TEST ¼Hkk"kk ijh{k.k½

Questions: 51 to 90

fgUnh Hkk"kk
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"Is your health sound?" said the manager at 
last.

"No sir," replied Ram Kishan," not quite. I 
suffer from one serious complaint".

"What's that?" asked the manager sharply. 
"Sleeplessness", came the prompt reply. 
The manager was so pleased with the 
young man that without questioning him 
further he appointed him.

Q.51 The manager always found 
something wrong with each man. 
This shows that he 

(1) was not interested in selecting 
any one for the job.

(2) wanted flawless person for the 
job.

(3) wanted the applicants to prove 
themselves fit for the job.

(4) he had a habit of finding faults 
with other.

Q.52 The manager rejected all other 
applicants for want of......

(1) good looks

(2) vigilance

(3) good health

(4) wisdom

Q.53 Which of  the fol lowing is  
incorrect?  

(1) Ram Krishan was ill and badly 
needed a job for his treatment.

(2) the manager did his job quite 
responsibly and dedicatedly.

(3) The other applicants were not 
really suited for the job.

(4) Ram Kishan did not suffer from 
any ailment.

iz-53 fuEufyf[kr esa ls dkSu lk ’kCn uh izR;; 
tksM+us ls ugha cuk gS\

(1) ’ksjuh

(2) HkhyuhÄ

(3) fgjuh

(4) eksjuh

iz-54 lq"kqfIr ’kCn dk dkSu lk laf/k foPNsn 
lgh gS\

(1) lq $ lqfIr

(2) lq% $ mfIrÄ

(3) lq"kqIr $ b+

(4) lq"kqi~ $ fr

iz-55 xks $ bZ’k dh lfU/k dhft,A

(1) xks;h’k

(2) xk;h’kÄ

(3) xos’k

(4) xoh’k

iz-56 uhyk gS tks d.B foxzg fdl lekl ds 
varxZr gksrk gSA

(1) vO;;hHkko

(2) deZ/kkj;Ä

(3) }U}+

(4) cgqozhfg

iz-57 ^;FkkØe*  fdl lekl dk mnkgj.k gSA

(1) vO;;hHkko

(2) rRiq#"kÄ

(3) }U}

(4) cgqozhfg
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Q.54 Why did Ram Kishan say the he 
suffered from sleeplessness.

(1) To test whether the manager 
could fail him.

(2) To prove that he knew well what 
his job required

(3) To show that he was honest and 
truthful

(4) To be frank and not to conceal 
anything.

Q.55 Ram Kishan got the job because he 
was?  

(1) intelligent and polite 

(2) poor and needy

(3) handsome and healthy

(4) witty and watchful

Directions : (Q 56 - 60) Read the 
following passage and answer the 
questions that follow :

The first sight of the Great wall of China 
stretching along the mountains like a 
gigantic snake is breath taking. The thought 
that comes to mind is what amazingly grand 
structures have come up with seemingly 
limit less man power. The Kingdoms of the 
5th Century BC built the earliest sections of 
the wall. For thousands of years, the wall 
protected China from the barbarian attacks. 
The purpose of the Great wall was not only 
to keep out the Huns from the North, but 
also their horses, as the Huns were 
ineffective as warriors without their horses. 
Once intended to ward off enemies, today it 
brings peoples of the world together. The 
government is cashing in on what is 
unden iab ly  one  o f  the  g rea tes t  
achievements of civilization. A visit to 
Beijing without a trip to the Great wall is 
useless. Many tourists brave, young and 

iz-58 vtj ’kCn fuEu esa ls fdl okD;ka’k ds 
fy, iz;qDr gksrk gSA

(1) tks l‘f"V dk Kkrk gks

(2) bZ’oj esa vkLFkk j[kus okykÄ

(3) ftls dHkh jksx u gks

(4) ftls dHkh cq<+kik u vk,A

iz-59 fuEufyf[kr esa ls dkSu lk Nan 
leekf=kd gSA

(1) nksgk

(2) lksjBkÄ

(3) pkSikbZ

(4) cjoS

iz-60 ^eS;k eSa rks pUnz f[kykSuk ySgksaA* iafDr esa 
dkSu lk vyadkj gSA

(1) miek

(2) :id

(3) +mRizs{kk

(4) ;ed

61-64 fn, x, fjDr LFkkuksa esa lokZf/kd mfpr 
fodYi pqfu,A

iz-61 ’kgjhdj.k /kheh izfØ;k gS]------- 
m|ksxhdj.k esa ifjorZu cgqr rst gksrk gSA

(1) vr,o

(2) ifj.kker%Ä

(3) tcfd

(4) D;ksafd
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adventurous-set out to climb the Great wall 
though the steep steps which become 
dangerously, slippery when it rains.   

Q.56 The great wall is called a gigantic 
snake because......

(1) the Chinese people worship 
snakes

(2) the big snake lives on it 

(3) it goes zigzag like a snake 

(4) it has the same designs as on 
the back of the snake. 

Q.57 What surprises a visitor most is 
the..........

(1) number of days in constructing 
it

(2) number of stones and bricks 
used

(3) number of people who built it 

(4) amount of money spent in 
constructing.

Q.58 The purpose of constructing the 
wall was   

(1) to keep away the wild animals

(2) to keep away Huns

(3) to keep away their enemies

(4) to keep away Huns and their 
horses

Q.59 One indirect advantage of the wall 
is...... 

(1) better protection

(2) more money

(3) more fame

(4) more visitors

iz-62 vkS|ksfxd fodkl ls tgk¡ vkfFkZd le‘f  
gksrh gS] ogk¡ ------ dh leL;k Hkh mRiUu 
gksrh gSA

(1) iznw"k.k

(2) gzkl

(3) eqnzkLQhfr

(4) feykoV

iz-63 izsepUnz d‘ r xksnku------ dk lalkj dh 
dbZ Hkk"kkvksa esa vuqokn gqvk gSA

(1) ukVd

(2) ,dkadhÄ

(3) egkdkO;

(4) miU;kl

iz-64 gksrk ugha xq# fcu------- deZ fcuk ugha 
gksrk ekuA

(1) è;ku

(2) dY;k.kÄ

(3) Kku

(4) =kk.k

iz-65 dhpM+ mNkyuk dk vFkZ gSA

(1) >wBh cnukeh djuk

(2) xanxh QSykukÄ

(3) cqjh ckr djuk

(4) xanxh lkQ djuk

iz-66 ukp u tkus vk¡xu Vs<+k dk vFkZ gSA

(1) Vs<+s vk¡xu esa ukpuk ugha vkrk

(2) myVk lh/kk ukpukÄ

(3) ukpus okyk LFky Bhd u gksus ls 
ukp u ikuk

(4) viuk nks"k nwljs ds flj e<+uk

)
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Q.60 The words from the passage which 
means the same as 'savage and 
huge' are..... 

(1) great and amazing

(2) breath taking, amazing

(3) amazingly and breath taking

(4) barbarian and gigantic.

Directions : (Q 61 - 65) You are provided 
with first (1) and last (6) parts of a 
sentence. The remaining sentence is 
broken in to four parts. labelled L,M,N 
and O. Arrange these parts so as to form 
a complete meaning ful sentence and 
select the correct option of the 
combinations given below:

Q.61    1. Sabina reached her house at 
5  p.m. and 
(L) then there was a huge 

explosion
(M) no sooner
(N) had she got out of the taxi
(O) and it went up in flames

   6. Producing darkness in the sky.
(1) LMNO
(2) MLNO
(3) MNLO
(4) NOML

Q.62    1. To much of the world
(L) Which produces radio and 

television
(M) it is science
(N) by aero planes and 

satellites
(O) and which conquers space

   6. Through sophisticated  
technology
(1) MNLO
(2) MLON
(3) LMNO
(4) NMOL

iz-67 ^lkou gjs u Hkknksa lw[ks* dk vFkZ gSA

(1) vPNh [ksrh u gksuk

(2) lq[k esa lq[kh vkSj nq[k esa nq[kh gksukÄ

(3) ges’kk ,d lk jguk

(4) gjne [kq’k jguk

iz-68 vk¡[k esa /kwy >ksaduk dk vFkZ gSA

(1) /kks[kk nsuk

(2) ihM+k igq¡pkukÄ

(3) Mjuk

(4) nq’euh djuk

69-70 fuEufyf[kr esa ls lgh okD; p;fur 
djsaA

iz-69 

(1) ohj "kksM’k o"khZ; vtqZu ds iq=k 
vfHkeU;q us pØO;wg rksM+k

(2) "kksM’k o"khZ; vtqZu ds iq=k ohj 
vfHkeU;q us pØO;wg rksM+kÄ

(3) "kksM’k o"khZ; ohj vtqZu ds iq=k 
vfHkeU;q us pØO;wg rksM+kÄ

(4) vtqZu ds iq=k "kksM’k o"khZ; ohj 
vfHkeU;q us pØO;wg rksM+kÄ

iz-70 

(1) gekjs cSy b/kj m/kj HkVdrs gq, 
iM+ksfl;ksa ds [ksr esa tk igq¡ps

(2) b/kj m/kj HkVdrs gq, cSy gekjs 
iM+ksfl;ksa ds [ksr esa tk igq¡ps

(3) gekjs cSy iM+ksfl;ksa ds [ksr esa b/kj 
m/kj HkVdrs gq, tk igq¡ps

(4) gekjs iM+ksfl;ksa ds [ksr esa b/kj m/kj 
HkVdrs gq, cSy tk igq¡ps
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Q.63    1. It was

(L) grandeur 

(M) the gigantic

(N) inside

(O) all

   6. palace hall

(1) LMNO

(2) OMLN

(3) NMLO

(4) OLMN

Q.64    1. In this stage of the world

(L) that their gross ignorance 
of one another should be 
diminished 

(M) it is essential

(N) when many nations are 
brought into close and vital 
contacts for good and evil

(O) as never before

   6. That they should begin to 
understand a little of one 
another's     historical 
experiences and resulting 
mentality

(1) LMNO

(2) LONM

(3) LMON

(4) NMOL

Q.65    1. If the sword fish really 
attacked

(L) it could have cut it 

(M) and that would have been

(N) to pieces very quickly

(O) the rubber raft with its 
vicious sword

   6. the end of the experiment

(1) LMNO

(2) OMNL

(3) OLNM

(4) NMOL

iz-71 ^Hkxoku vkidks nh?kkZ;q djs*& fdl izdkj 
dk okD; gSA

(1) vkKkokpd

(2) bPNkokpd

(3) lansgokpd

(4) ladsrokpd

iz-72 tks fo|kFkhZ ifjJe djrk gS] og ijh{kk 
esa vo’; lQy gksrk gS& ;g okD; dk 
dkSu lk Hksn gS&

(1) ljy okD;

(2) feJ okD;

(3) la;qDr okD;

(4) mi;qZDr esa ls dksbZ ugha

iz-73 fo|kFkhZ dks iqLrd nks&okD; esa js[kkafdr 
in esa dkSu lk dkjd gSA

(1) drkZ

(2) deZ

(3) lEiznku

(4) lEcU/k

funsZ’k % 74-75 js[kkafdr in dk mfpr i;kZ; 
p;fur djsaA

iz-74 euq"; dks dsoy vkfFkZd le‘f

(1) fodkl

(2) cgqyrk

(3) izpqjrk

(4) lEiUurk

) ls gh 
lq[k izkIr ugha gks ikrk gSA
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Directions : (Q 66 - 71) In the following 
passage there are some numbered 
blanks. Fill in the blanks by selecting the 
most appropriate word for each blank 
from the given options :

In the northern India, (66) _________ in 
Haryana and Punjab, the Arya Samaj had 
(67)_______ a campaign to eradicate (68) 
___________ evil of untouchability. The 
Arya Samaj (69) ________ recognize caste 
distinctions. The onslaught (70) _______ 
untouchability was carried on in a more (71) 
_______ way by Mahatma Gandhi.

Q.66 (1) Specially

(2) Generally

(3) Particularly

(4) Selectively

Q.67 (1) Started

(2) Launched

(3) Moved

(4) Pushed

Q.68 (1) The

(2) A

(3) An

(4) Some

Q.69 (1) Do not

(2) Does not

(3) Was not

(4) Will not

Q.70 (1) For

(2) With

(3) By

(4) Against

iz-75 ifjJe dHkh fu"Qy ugha tkrkA

(1) O;FkZ

(2) vdkj.k

(3) u"V

(4) fu"iz;kstu

funsZ’k % 76-77 js[kkafdr in dk mfpr foykse 
p;fur djsaA

iz-76 lQyrk dh ckr lqudj lcdks g"kZ gksrk 
gSA

(1) d"V

(2) fo"kknÄ

(3) {kksHk

(4) Xykfu

iz-77 dk;kZy; dks ,d iw.kZdkfyd ys[kkdkj 
dh vko’;drk gSA

(1) vLFkk;h

(2) rkRdkfydÄ

(3) dk;Zdkjh+

(4) va’kdkfyd

iz-78 jkepfjrekul fgUnh dh dkSu lh cksyh 
dh jpuk gS

(1) czt

(2) vo/kh

(3) [kM+h

(4) eSfFkyh

iz-79   dq#{ks=k* fdl dfo dh jpuk gS\

(1) izlkn

(2) iUrÄ

(3) fujkyk+

(4) fnudj

^
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Q.71 (1) Collective

(2) Effective

(3) Selective

(4) Defective

Directions : (Q 72 - 77) In each of the 
following questions out of the given 
alternatives, choose the one which best 
expresses the meaning of the idiom/ 
phrases in italics :

Q.72 He is disliked because of his habit 
of 'making a mountain of a mole 
hill.

(1) exaggerating

(2) boasting

(3) taking undue advantage of a 
favourable opportunity

(4) giving great importance to
 trifles

Q.73 We should give a 'wide berth' to 
bad characters 

(1) keep away from

(2) publicly condemn

(3) give publicity  

(4) not sympathise with

Q.74 Unless you 'grease his palm' he 
will not do your work 

(1) threaten him

(2) flatter him

(3) beat him  

(4) bribe him

Q.75 Despite being under debt, Rohit 
still 'keeps a good table'  

(1) keeps up an outward show of 
prosperity

(2) entertains his guests 
sumptuously

(3) helps his friends with money  

(4) is lively and gay when his  
friends call.

iz-80 ehjkckbZ fdl ;qx dh dof;=kh gSaA

(1) vkfndky

(2) HkfDrdkyÄ

(3) jhfrdky

(4) vk/kqfuddky

iz-81 ck.kHkV~V dh vkRedFkk* fdl fo/kk dh 
jpuk gSA

(1) dfork

(2) ukVd

(3) vkRedFkk

(4) miU;kl

funsZ’k % 82-86 x|ka’k dks i<+dj o le>dj 
fn, x, fodYiksa esa ls fjDr LFkku ds fy, 
mfpr ’kCn dk p;u dhft,A

ge rks dgsaxs ?khlw fdlkuksa ls dgha T;knk 
82  Fkk vkSj fdlkuksa ds fopkj’kwU; 
lewg esa ’kkfey gksus ds cnys cSBdcktksa dh 
83  e.Myh esa tk feyk FkkA gk¡] mlesa 
;g ’kfDr u Fkh fd cSBdcktksa ds 84  

vkSj uhfr dk ikyu djrkA blfy, tgk¡ 
85  e.Myh ds vkSj yksx xk¡o ds ljxuk 
vkSj eqf[k;k cus gq, Fks] ml ij lkjk xk¡o 
86  mBkrk FkkA

iz-82 (1) fopkjoku

(2) n;kokuÄ

(3) uhfroku

(4) /kuoku

iz-83 (1) mUur

(2) dqfRlrÄ

(3) Øwj+

(4) lQy

^

_______

_______

_______

_______

_______
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Q.76 A golden handshake is a 
payment ..........  

(1) received as an inducement to 
leave job

(2) received in advance for a new 
job

(3) received as a bribe in return of a 
favour.  

(4) received as a prize.

Q.77 If you are in cloud nine, you are......  

(1) extremely happy

(2) utterly confused

(3) extremely nervous  

(4) deeply scared.

Directions : (Q 78 - 83) Complete each of 
the following statement by selecting the 
most suitable option from the list for the 
corresponding gap. :

Q.78 If is unfortunate that.......

(1) you lost your purse

(2) you have lost your purse

(3) you lose your purse 

(4) your purse was lost

Q.79 I shall not be late for dinner.......

(1) if the train is late

(2) unless the trains is late

(3) unless the train is not late 

(4) unless the train will not be late

Q.80 In order to raise the company's 
profit, the employees.......

(1) demanded two additional 
increments

(2) decided to go on paid holiday

(3) decided to raise the cost of raw 
material 

(4) offered to work over time 
without any compensation

iz-84 (1) /keZ

(2) U;k;Ä

(3) fu;e

(4) Je

iz-85 (1) mldh

(2) ftldhÄ

(3) fdlku

(4) mUur

iz-86 (1) gkFk

(2) iSjÄ

(3) flj

(4) vaxqyh

funsZ’k % 87-90 fuEufyf[kr x|ka’k dks i<+dj 
fn, x, iz’uksa ds fy, lgh fodYi dk p;u 
dhft,A

eSnku dh og lq[kn gfj;kyh] gok ds 
gyds&gyds >ksads] QqVcky dh og mNy&dwn] 
dcM~Mh ds og nk¡o&?kkr] okWyhcky dh og rsT+kh 
vkSj Qqjrh] eq>s vKkr vkSj vfuok;Z :i ls [khap 
ys tkrh vkSj ogk¡ tkrs gh eSa lc dqN Hkwy tkrkA 
og tkusyok Vkbe&Vsfcy] og vk¡[kQksM+ iqLrdsa] 
fdlh dh ;kn u jgrh vkSj HkkbZ lkgc dks 
ulhgr vkSj Qthgr dk volj fey tkrkA eSa 
muds lk;s ls Hkkxrk] mudh vk¡[kksa ls nwj jgus 
dh ps"Vk djrk] dejs esa bl rjg ncs ik¡o vkrk 
fd mUgsa [kcj u gksA mudh uT+kj esjh vksj mBh 
vkSj esjs izk.k fudysA ges’kk flj ij ,d uaxh 
ryokj&lh yVdrh ekywe gksrhA

fQj Hkh tSls ekSr vkSj foifÙk ds chp Hkh vkneh 
eksg vkSj ek;k ds ca/ku esa tdM+k jgrk gS] eSa 
QVdkj vkSj ?kqM+fd;k¡ [kkdj Hkh [ksy&dwn dk 
frjLdkj u dj ldrk FkkA
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Q.81 I shall see him.......

(1) before I shall leave for England

(2) before I leave for England

(3) before I have left for England 

(4) before I would be leaving for 
England

Q.82 The doctor warns him that unless 
he gives up smoking.......

(1) will he be able to recover

(2) he will not suffer

(3) his health wi l l  soon be 
recovered

(4) he will not recover

Q.83 When I met her last year.......

(1) she had married since five 
years

(2) she had been married for five 
years

(3) she was married five years ago 

(4) she had been married since five 
years.

Directions : (Q 84 - 87) In each the 
following sentences, out of the given 
alternatives, choose the one which 
comes nearest to the meaning to the 
italic words:

Q.84 Repeated attacks on his works has 
rendered the author 'immune' to 
criticism.

(1) exempt

(2) hostile

(3) disturbing 

(4) insensitive

Q.85 The situation is more 'grave' now 
than it ever was.

(1) dangerous

(2) serious

(3) complicated  

(4) uncontrollable

iz-87 Vkbe Vscy ds Hkwy tkus dk fuEu esa ls 
dkSu lk dkj.k ugha gS\

(1) izkdfrd vkuan dk etk‘

(2) [ksy dh eLrh

(3) ikB~; iqLrdsa

(4) cky lqyHk euksHkko

iz-88 HkkbZ lkgc dh ukjktxh dk D;k dkj.k 
Fkk\

(1) muds lk;s ls Hkkxuk

(2) dejs esa ncs ik¡o vkuk

(3) Vkbe Vscy dk ikyu u djuk

(4) [ksydwn djuk

iz-89 flj ij uaxh ryokj yVdus dk D;k vFkZ 
gS\

(1) cM+h cspSuh gksuk

(2) ejus dks rS;kj jguk

(3) uaxh ryokj ls [ksyuk

(4) fgEerokyk cuuk

iz-90 ekSr vkSj foifÙk dh rqyuk fdlls dh xbZ 
gS\

(1) QVdkj vkSj ?kqM+dh

(2) eksg vkSj ek;k

(3) [ksy&dwn

(4) ca/ku esa tdM+uk
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Q.86 The value of some shares has 
'appreciated' considerably in the 
last two months

(1) changed 

(2) increased

(3) depreciated 

(4) crashed

Q.87 The soldier displayed 'exceptional' 
courage and saved the Mayor from 
the enemy

(1) new

(2) strange

(3) abnormal 

(4) unusual

Directions : (Q 88 - 90) In each the 
following sentences, choose the word 
which is the opposite in meaning to the 
word in italics, as used in the given 
sentence.:

Q.88 People are unwilling to 'follow' the 
rules.

(1) forget

(2) disregard

(3) neglect 

(4) dispose

Q.89 When Manjula entered the room, 
she was in a 'jubilant' mood.

(1) depressed

(2) defeated

(3) thought ful 

(4) serious

Q.90 Rahul is extremely 'intelligent' but 
proud.

(1) simple

(2) ignorant

(3) dull 

(4) weak
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PART-III  ¼Hkkx-III½
SCHOLASTIC APTITUDE TEST

’kSf{kd ;ksX;rk ijh{k.k
Questions: 91 to 180

Q.91 The acceleration versus time 
graph of an object is as shown in figure. 
The corresponding velocity - time graph 
of the object is

(1)  (2) 

(3)  (4) 

Q.92 The graph below describe the 
motion of a ball rebounding from a 
horizontal surface being released 
from a point above the surface.

The quantity represented in the y-
axis is the ball's

(1) displacement 

(2) velocity

(3) acceleration

(4) momentum

iz-91  fdlh oLrq dk Roj.k & le; dk xzkQ 
fp=k esa fn[kk;k x;k gSA oLrq ds osx o le; dk 
xzkQ gksxkA

(1)  (2) 

(3)  (4)  

iz-92 uhps fn;k xzkQ xsan dh fdlh {kSfrt 
lrg ij Å¡pkbZ fcUnq ls fxjkus rFkk 
lrg ls okfil vkus dh xfr dks n’kkZrk 
gSA xzkQ ds y-v{k ij iznf’kZr jkf’k gksxh

(1) foLFkkiu

(2) osx

(3) Roj.k

(4) laosx

v

t

v

t

v

t

v

t

a

t

v

t

v

t

v

t

v

t

a

t

y

time

y

le;
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Q.93 A block is placed on a rough 
horizontal  surface.  A t ime 
dependent horizontal force F=kt 
acts on the block, where k is 
positive constant. Acceleration - 
time graph of the block is

1. 2. 

3. 4. 

Q.94 White light is incident on the 
interface of glass and air as shown 
in the figure. If green light is just 
totally internally reflected then the 
emerging ray in air contains

(1) yellow, orange, red

(2) violet, indigo, blue

(3) All colours except green

(4) All colours

a

t

a

t

a

t

a

t

air
green

white light

glass

gok
gjk

’osr izdk’k

’kh’kk

iz-93 [kqjnjs {kSfrt lrg ,d xqVdk j[kk gSA 
le; ij fuHkZj djus okyk {kSfrt cy 
F=kt yxrk gS ¼tgk¡ k ds ?kukRed 
fLFkjkad gS½ oLrq dk Roj.k & le; dk 
xzkQ gksxkA

1. 2. 

3. 4. 

iz-94 ’kh’ks o gok ds eè; /kjkry ij ’osr 
izdk’k fxjrk gS] tSlk fd fp=k esa 
fn[kk;k x;k gSA ;fn gjs izdk’k dk 
yxHkx iw.kZ vkarfjd ifjorZu gksa] rc 
gok esa fuxZr fdj.ksa gksxh%&

(1) ihyh] larjh] yky
(2) cSaxuh] ijkcSxuh] uhyk
(3) gjs jax ds vfrfjDr lHkh jax
(4) lHkh jax
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Q.95 A concave mirror is placed in a 
horizontal table with its axis directed 
vertically upwards. Let O be pole of the 
mirror and C its centre of curvature. A 
point object is placed at C. It has a real 
image, also located at C. If the mirror is 
now filled with water, the image will be

(1) real and located at a point 
between C and O.

(2) real and will remain at C.

(3) real and located at point 
between C and   (infinity)

(4) virtual and located at a point 
between C and O.

Q.96 Four pendulums P, Q, R & S are 
suspended from same elastic 
support as shown in figure. Out of 
these P and R are of the same 
length. Q is smaller than P and S is 
longest. If the pendulum bob P is 
displaced to give small vibration.

(1) amplitude of vibration for S is 
maximum

(2) amplitude of vibration for R is 
maximum

(3) amplitude of vibration for Q is 
maximum

(4) amplitude of vibration for all is 
same

iz-95 {kSfrt est ij ,d vory niZ.k j[kk gS 
ftldk v{k Åij dh vksj gSA niZ.k dk 
/kzqo O rFkk C oØrk dsUæ gSA ,d fcUnq 
oLrq C ij fLFkr gS] ftldk okLrfod 
izfrcac Hkh C ij curk gSA ;fn niZ.k dks 
ikuh ls Hkj fn;k tk, rc izfrfcEc &

(1) okLrfod gksxk rFkk C o O ds e/; 
fdlh fcUnq ij cusxkA

(2) okLrfod gksxk rFkk C ij gh cusxk

(3) okLrfod gksxk rFkk C o vuar ds 
e/; gksxk

(4) vkHkklh gksxk rFkk C o O ds e/; 
fdlh fcUnq ij gksxk

iz-96 P, Q, S vkSj R pkj ljy yksyd ,d gh 
izR;kLFk vk/kkj ls] fp=kkuqlkj yVdk;s x, gSaA

P o R dh yEckbZ;k¡ ,d leku gSA Q, P ls NksVk 
rFkk S dh yEckbZ vf/kdre gSA ;fn P dks 
foLFkkfir dj NksVk nksyu djk;k tk,] rc&

(1) nksYkuksa dk vk;ke S ds fy, 
vf/kdre gSA

(2)  nksYkuksa dk vk;ke R ds fy, 
vf/kdre gSA

(3) nksYkuksa dk vk;ke Q ds fy, 
vf/kdre gSA

(4)  nksYkuksaa dk vk;ke lHkh ds fy, 
cjkcj gSA

S

R
Q

P

S

R
Q

P
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Q.97 The elongation of wire of length L 

is l, in the case of figure (i). The 

same wire elongation in case of 
figure (ii) will be (Pulley is light)

   fig (i)      fig (ii)

(1) 4 l

(2) 2 l

(3) l

(4) l/2

Q.98 Suppose universal gravitational 
constant starts to decrease, then

1. length of the year will increase

2. earth will follow a spiral path of 
decreasing radius

3. kinetic energy will remain 
contant

4. all of the above

Q.99 If a lens of focal length 'f' is cut in 
two equal parts shown as 

are put in contact as shown in 
figure (i) and (ii)

fig (i) fig (ii)

the resulting focal length of fig (i) 
and (ii) will be

(1) f/2, 0

(2) 0, f/2

(3) f, f

(4) f/2,    (infinity)

iz-97 L yEckbZ ds ,d rkj dk fp=k i esa f[kpko 

l gSA blh rkj ds fy,  & ii esa f[kapko 
gksxk &

                  fp=k (i)   fp=k (ii)

(1) 4 l
(2) 2 l
(3) l
(4) l/2

iz-98 ;fn lkoZf=kd xq:Rokd"kZ.k fLFkjkad 
?kVuk ’kq: dj nsa rc
1. o"kZ dh yEckbZ c<+ tk,xh
2. i‘Foh ?kVrh gqbZ f=kT;k ds dqaMyh; 

d{k esa ?kweus yxsxh
3. xfrt mtkZ fLFkj jgsxh
4. mijksDr lHkh

iz-99 ;fn fdlh  Qksdl nwjh ds ySal dks nks 
cjkcj Hkkxksa esa fp=kkuqlkj dkVsa 

rFkk fn[kk, fp=k (i) o (ii) ds vuqlkj 
lek;ksftr dj ns] rc  dh 
ifj.kkeh Qksdl nwjh gksxh

             fp=k  (i)  fp=k (ii)

(1) f/2, 0

(2) 0, f/2

(3) f, f

(4) f/2, 

fp=k

'f'

fp=k (i) o (ii)

  (vuar)

M M M M M M

f f
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Q.100 A uniform wire when connected 
directly across a 220V line 
produces heat H per second. If 
the wire is divided into n-parts 
and all parts are connected in 
parallel across a 220V line, the 
heat produced per second will be

(1) H/n
2

(2) H/n
2(3) n H

(4) nH

Q.101 In the question below, a statement 
of assertion (A) is followed by 
corresponding statement of 
reason (R). Of the following 
alternatives, choose the correct 
one.

(A) To keep valuable instruments 
away from earth's magnetic field, 
they are enclosed in iron boxes.

(R) Iron boxes repel the earth 
magnetic field lines.

(1) If both assertion and reason are 
true & reason is the correct 
explanation of assertion.

(2) If both assertion and reason are 
true but reason is not the 
c o r r e c t  e x p l a n a t i o n  o f  
assertion.

(3) Assertion is true, reason is false

(4) Assertion is false, reason is true

iz-100 ,d gh dkV{ks=kQy dh rkj dks 
foHkokarj ds L=kksr ls tksM+us ij H izfr 
lsd.M dh nj ls m"ek iSnk gksrh gSA 
;fn rkj dh  cjkcj fgLls dj fn, 
tk, rFkk lHkh dks mlh foHkkokarj ds 

 ds lkFk lekarj Øe ls tksM+k 
tk, rc izfr lsd.M dh nj ls m"ek 
iSnk gksxh &

(1) H/n

2(2) H/n
2

(3) n H

(4) nH

iz-101 uhps fn, iz’u esa ,d dFku (A) rFkk 
mldk rdZ (R) fn;k x;k gSA fn, 
fodYiksa esa ls Bhd fodYi NkafV,A
dFku (A) lqqxzkgh midj.kksa dks i‘Foh ds 
pqEcdh; {ks=k ls cpkus ds fy,] mUgsa 
yksgs ds cDls esa can djds j[kk tkrk gSA
rdZ (R) yksgs ds cDls i‘Foh dh pqEcdh; 
cy js[kkvksa dks izfrdf"kZr dj nsrs gSaA

(1) ;fn dFku o rdZ nksuksa lR; gks] rc 
rdZ dFku dh lgh O;k[;k djrk 
gSA

(2)  ;fn dFku o rdZ nksuksa lR; gks rc 
rdZ dFku dh Bhd O;k[;k ugha 
djrkA

(3) dFku lR; gS] rdZ Bhd ugha gSA

(4)  dFku xyr gS rdZ Bhd gSA

L=kksr



37

Q.102 A sphere, a cube and a thin 
circular plate of same material 
and mass, are heated to a 
temerature of 200ºC and allowed 
to cool-

(1) Sphere will cool at fastest rate

(2) Cube will cool at moderate rate

(3) Plate will cool at slowest rate

(4) Rate of cooling will be same in 
all three.

Q.103 The pH value of 100 litre aqueous 
solution containing 4 gram NaOH 
is:   

(1) 3

(2) 9

(3) 11

(4) 14

Q.104 One mole of magnesium nitride 
on reaction with excess of water 
gives  

 

(1) One mole of ammonia

(2) Two moles of ammonia

(3) One mole of nitric acid

(4) Two moles of nitric acid

iz-102 ,d gh /kkrq ds leku æO;eku ds ,d 
xksys] ,d ?ku o ,d iryh IysV dks 
200ºC rd xeZ dj B.Mk gksus ds fy, 
NksM+ fn;k x;k] rc

(1) xksys ds BaMs gksus dh nj vf/kdre 
gksxh

(2) ?ku ds BaMs gksus dh nj e/;LFk 
gksxh

(3) IysV ds BaMs gksus dh nj U;wure 
gksxh

(4) rhuksa ds BaMs gksus dh nj ,d leku 
gksxh

iz-103 100 yhVj tyh; foy;u ftlesa 4 xzke 
NaOH?kqyk gS] dk pH eku gksxk% 

(1) 3

(2) 9

(3) 11

(4) 14

iz-104 ,d eksy esXuhf’k;e ukbVªkbM ty dh 
vf/kd ek=kk ls vfHkfØ;k djus ij nsrk 
gS&

(1) veksfu;k dk ,d eksy

(2) veksfu;k ds nks eksy

(3) ukbfVªd vEy dk ,d eksy

(4) ukbfVªd vEy ds nks eksy
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Q.105 Match the following:

Column-I Column-II   

(A) Strongest i. Thalium
reducing 
agent in 
aqueous 
solution

(B) Shows inert ii. Caesium
pair effect

(C) Forms iii. Lithium
peroxide on 
heating with 
excess of 
oxygen

(D) Used in iv. Sodium 
Photo cells

(1) A-IV,   B-II,   C-I,    D-III

(2) A-III,   B-I,    C-IV,  D-II

(3) A-III,   B-II,   C-I,   D-IV

(4) A-II,   B-IV,   C-I,   D-III

Q.106 The oxidation states of sulphure 
2- 2- 2-

in SO , S O  and  S O   follows 3 2 4 2 6

the order:  

2- 2- 2-
(1) S O  <  SO <  S O2 4 3 2 6

2- 2- 2-(2) SO   <  S O <  S O3 2 4 2 6

2- 2- 2-(3) S O  < S O <  SO2 4 2 6 3

2- 2- 2-
(4) S O <  S O <  SO2 6 2 4 3

iz-105 fuEufyf[kr dk feyku djsa

dkWye-II dkWye-II

(A) tyh; foy;u i. Fksfy;e
esa izcy 
vipk;d 

(B) vfØ; tksM+k ii. lhft;e
izHkko fn[kkrk gS

(C) vkDlhtu ds iii.fyfFk;e
lkFk xeZ djus 
ij ijvkDlkbM 
cukrk gS

(D) izdk’k fo|qr iv.lksfM;e
lSy esa iz;ksx esa 
yk;k tkrk gS

(1)  A-IV,   B-II,   C-I,    D-III

(2)  A-III,   B-I,    C-IV,  D-II

(3)  A-III,   B-II,   C-I,   D-IV

(4)  A-II,   B-IV,   C-I,   D-III

2-  2- 2- iz-106 SO , S O o S O esa lYQj dh 3 2 4 2 6

mip;u voLFkk (OS) ds vk/kkj dk 
lgh Øe gksxk% 

2- 2- 2-
(1) S O  <  SO <  S O2 4 3 2 6

2- 2- 2-(2) SO   <  S O <  S O3 2 4 2 6

2- 2- 2-(3) S O  < S O <  SO2 4 2 6 3

2- 2- 2-(4) S O <  S O <  SO2 6 2 4 3
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Q.107 About BF , PF  and  the 3 3 3

correct statement is:   

(1) All have similar shape.

(2) BF  and PF  have similar 3 3

shapes but not C F3

(3) All have different shapes

(4) PF and have similar 3  3 

shapes but not BF  3

Q.108 Which of the following is 
represented by general formula 
C H O?   n 2n+2

(1) Alchols only

(2) Both alcohols and ethers

(3) Aldehydes only

(4) Both Aldehydes and Ketones

Q.109 About (A) C OH, (B) KOH, (C) 
Be(OH)  the correct statement is:   2

(1) All are bases

(2) (B) and (C) are bases, (A) is 
acidic

(3) (A) is acidic, (B) is basic, (C) is 
amphoteric

(4) (B) and (C) are basic, (A) is 
amphoteric

Q.110 Which of the following is 
endothermic reaction?   

(1) C (s) + O  (g)   CO  (g)2 2

(2) N  (g) + O  (g)   2NO(g)2 2

(3) 2H  (g) + O  (g)   2H O ( ) 2 2 2

(4) 2CH OH (l) +3O  (g)   3 2

2CO  (g) + 4H O 2 2

C F

C F

( )

iz-107 BF , PF ,oa C F ls lEcfU/kr lgh 3 3 3 

dFku gS
(1) lHkh dh leku vkd‘fr gSA
(2) BF o PF dh leku vkd‘fr gS ij 3 3  

dh ughaA3 

(3) lHkh dh vleku ¼vyx½ vkd‘fr 
gSA

(4) PF o  dh leku vkd‘fr gS ij 3 3

BF dh ughaA3 

 iz-108 lkekU; vkf.od lw=k 
fuEufyf[kr esa fdlls lEcfU/kr gS\

(1) dsoy vydksgy

(2) vydksgy o bZFkj nksuksa 

(3) dsoy vfYMgkbM

(4) vfYMgkbM o fdVksu nksuksa 
iz-109 (A) C OH, (B) KOH, (C) Be(OH) ls 2 

lEcfU/kr lgh dFku gS%

(1) lHkh {kkj gSA

(2) (B) vkSj (C) {kkj gSa] (A) vEyh; gS

(3) (A) vEyh; gS] (B) {kkj gS rFkk (C) 

vEQksVSfjd gSA

(4) (B) vkSj (C) {kkjh; gSa] (A) 

vEQksVSfjd gS

iz-110 buesa ls dkSu lh fØ;k m"ek’kks"kh gS\

(1) C (s) + O  (g)   CO  (g)2 2

(2) N  (g) + O  (g)   2NO(g)2 2

(3) 2H  (g) + O  (g)   2H O 2 2 2

(4) 2CH OH (l) +3O  (g)   3 2

2CO  (g) + 4H O 2 2

C F

C F

C H On 2n+2

( )

( )
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Q.111 About (A) H O , (B) BaO , (C) CO  2 2 2 2

the correct statement is: \

(1) Both (A) and (B) are peroxides 
but not (C).

(2) All are peroxides

(3) (A) is peroxide but not (B) and 
(C) 

(4) (A) and (C) are peroxides but 
not (B).

Q.112 In which of the following AgC  is 
maximum soluble?   

(1) water

(2) 0.1 M   HC

(3) Ammonia

(4) 0.2 M   AgNO3

Q.113 When 2 moles of N  gas and 9 2

moles of H  gas are mixed and 2

reaction is completed to from NH  3

gas then reaction mixture will 
contain:   

(1) 11 moles of NH3

(2) 4 moles of NH  + 3 moles of H3 2

(3) 6 moles of NH  + 3 moles of H3 2

(4) 2 moles of NH  + 1 mole of N3 2

 

iz-111 (A) H O , (B) BaO , (C) CO ls 2 2 2 2 

lEcfU/kr lgh dFku gS%

(1) (A) o (B) ijvkWDlkbM gS ij (C) 

ughA

(2) lHkh ijvkWDlbM gSaA

(3) (A) ijvkWDlkbM gS ij (B) o (C) 

ughA

(4) (A) o (C) ijvkWDlkbM gS ij (B) 

ughA

iz-112 fdlesa AgC  vf/kd ?kqyu’khy gS\

(1) ikuh

(2) 0.1 M   HC 

(3) veksfu;k

(4) 0.2 M   AgNO3

iz-113 tc 2 eksy N eksy H xSl feyk 2  2 

dj NH cukus dh iw.kZ fØ;k dh] rc 3 

vfUre feJ.k esa fuEufyf[kr gksxk%

(1) 11 eksy NH3

(2) 4 eksy NH   +  3 eksy H3 2

(3) 6 eksy NH   +  3  eksy H3 2

(4) 2 eksy NH   +  1 eksy N3 2

,oa 9 



41

Q.114 Find out correct statement given 
below

(a) Length of alimentary canal is 
directly proportional to food 
habit.

(b) Enzymes for digestion of 
carbohydrates are not secreted 
in gastric juice.

(c) In an organism different 
engymes have different pH 
optima.

(d) Absorption of nutrient occurs in 
all parts of alimentary canal.

Q.115 Formation of oxy haemoglobin 
inside RBCs is a 

(a) Physical process 

(b) Chemical process

(c) Enzyme catalyzed reaction

(d) Partial pressure influenced 
process

Find out the correct answer

(1) a, b, c,

(2) a, b

(3) a, d

(4) c, d

(1) a, b

(2) a, c, d

(3) a, d

(4) a, b, c, d

iz-114  fuEu esa ls lgh dFku pqfu,\

(a) ikpu uyh dh yEckbZ tUrq dh 
[kk| vknrksa ds lekuqikrh gksrh 
gSA

(b) mnj jl esa dkckZsgkbMªsV dks ipkus 
ds fy, ,UtkbZe ugha gksrs gSA

(c) fdlh izk.kh ds fofHkUu ,UtkbZe dh 
vf/kdre fØ;k ’khyrk ds fy, 
vyx&vyx pH gksrh gSA

(d) ikpu uyh ds lHkh Hkkxksa esa iks"kd  
inkFkks± dk vo’kks"k.k gksrk gSA

(1) a, b

(2) a, c, d

(3) a, d

(4) a, b, c, d

iz-115 vkDlh 
fgeksXyksfcu cuuk ,d&& 

(a) HkkSfrd izfØ;k gS

(b) jklk;fud izfØ;k gS

(c) ,UtkbZe dh lgk;rk ls gksus okyh 
izfØ;k gS

(d) xlS kas ds vkfa ’kd ncko ds Åij fuHkjZ  
jgus okyh ifz Ø;k gAS

lgh mÙkj pqfu,

yky :f/kj df.kdkvksa esa 

(1) a, b, c,

(2) a, b

(3) a, d

(4) c, d
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Q.116 Pain centres in human brain 
differentiate between two 
stimulii on basis of:-

(1) differences in threshold 
stimulii 

(2) differences in amplitude of 
nerve implulses generated by 
two different stimulii

(3) differences in frequency of 
nerve impulses generated by 
two different stimulii

(4) there are different neuron in 
brain to receive different 
stimulii

Q.117 Test cross is a cross between 

(1) One homozygous and another 
heterozygous individual.

(2) One individual with recessive 
character and another with 
dominant character of same 
species 

(3) Two individuals of same 
species, each homogygous 
for a character. 

(4) Two homogygous individuals 
for a character.

iz-116 ekuo efLr"d esa fLFkr ihM+k dsUnz] 
fofHkUu mn~osxksa esa fuEu vk/kkj ij 
vUrj djrs gSa%&

(1) nksuksa mn~osxksa dh ’kq#vkrh ek=kk 
esa fHkUurk ds vk/kkj ij

(2) nks fofHkUu mn~osxksa n~okjk mRiUu 
raf=kdk vkosxksa ds ,EiyhV;wM 
¼vk;ke½ ds vyx&vyx gksus ds 
dkj.k

(3) nks fofHkUu mn~osxksa n~okjk mRiUu 
vko‘fRr vyx&vyx gksus ds 
dkj.k

(4) fofHkUu mn~osxksa ds fy, 
vyx&vyx raf=kdk rU=k 
dksf’kdk,¡ gksrh gSA

iz-117 VsLV ØkWl fuEu ds chp djrs gSa

(1) ,d le;qXed o vU; 
fo"ke;qXed izk.kh ds chp

(2) ,d izk.kh esa Recessive vkSj 
nwljs esa izeq[k xq.k 
gks] os nksuksa ,d gh tkfr ls 
lEcfU/kr gks

(3) nksuksa ,d gh xq.k ds fy, 
le;qXed ¼gksekstkbZxl½ gks o 
,d gh tkfr ls lEcfU/kr gks

(4) ,d gh xq.k ds nks le;qXed izk.kh 

(Dominant) 
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Q.118 Which of the following satement 
is true 

(a) Viruses high mutability is 
related to its nature of genetic 
material

(b) Bacteriophage     evolved 
before evolution of Bacteria.

(c) Viruses infect only through 
opening in the body of plants 
and animals. 

(d) V i r u s e s  a r e  o b l i g a t o r y  
intracellular parasites. 

(1) a, b, c,

(2) a & c only

(3) a, b, c, d

(4) a, c, d only

Q.119 Arrange fo l lowing in  the  
sequence.

(a) Mutation 

(b) Reproductive isolation

(c) Natural Selection

(d) Evolution

(1) a, b, c, d

(2) d, c, b, a

(3) a, c, b, d

(4) c, b, a, d

iz-118 buesa ls dkSu lk dFku lR; gS%

(a) fo"kk.kqvksa esa vf/kd E;wVs’ku dk 
dkj.k muds xq.k lw=kksa esa fufgr 
gSA

(b) cSDVhfj;ksQkt] lw{e thoksa ls igys 
iSnk gq,A

(c) ikS/kksa os tUrqvksa esa fo"kk.kq muesa 
vifY;r fNnzksa ds }kjk gh izos’k 
djrs gSA

(d) fo"kk.kq dsoy dksf’kdk ds vUnj 
jgus okyk ijthoh gSA

iz-119 fuEu dks Øe esa yxkb,%

(a) E;wVs’ku ¼mRifjorZu½

(b) fofHkUu iztkfr;ksa esa iztuu u 
djus okyk ¼iztuu vyxko½

(c) izkd‘frd p;u

(d) fodkl Øe

 

(1) a, b, c,

(2) a & c only

(3) a, b, c, d

(4) a, c, d only

(1) a, b, c, d

(2) d, c, b, a

(3) a, c, b, d

(4) c, b, a, d
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iz-120 fuEu dk lgh feyku dhft,
dkWye-I dkWye-II

(1) dyj dksf’kdk  lhyUVªsVk
(2) fMIyksCykLV  iksjhQsjh
(3) Dykst :f/kj  bZdkbZuksMj

lapkj  
 ,sfufyMk

(4) okVj  vkFkksZiksMk
okldqyj rU=k

(1) 1-a, 2-b, 3-c, 4-d

(2) 1-a, 2-b, 3-c, 4-e

(3) 1-b, 2-a, 3-e, 4-c

(4) 1-a, 2-b, 3-e, 4-c

iz-121 fuEu esa ls dkSu lh ikni chekjh 
jklk;fud izfØ;k ls dkcw dh tk 
ldrh gS\

(1) fo"kk.kq tfur

(2) xksy d‘fe tfur ¼fuesVksMl½

(3) QQwan tfur

(4) mijksDr lHkh

iz-122 dFku%& gjs izdk’k esa izdk’k la’ys"k.k 
lcls de gksrk gS
dkj.k%&
DyksjksfQy dk jax gjk gksrk gS 
fn’kkfusnZ’k%&
(1) dFku o dkj.k nksuksa lR; gS 

o dkj.k] dFku dh lgh 
O;k[;k gSA

(2) dFku o dkj.k nksuksa lR; gSA 
ijUrq dkj.k dFku dh lgh 
O;k[;k ugha gSA

(3) dFku lgh gSA ijUrq dkj.k 
xyr gSA

(4) dFku xyr gSA ijUrq dkj.k 
lgh gSA

(a)

(b)

(c) esVk
rU=k

(d)

(e)

Q.120 Match the following
Coloumn-I Coloumn-II

(1) Color cells (a) Coelentrate

(2) Diploblast (b) Porifera

(3) Closed (c) Echinodermata
circulatory

system (d) Annelida

(4) Water (e) Arthropoda 
vascular system

(1) 1-a, 2-b, 3-c, 4-d

(2) 1-a, 2-b, 3-c, 4-e

(3) 1-b, 2-a, 3-e, 4-c

(4) 1-a, 2-b, 3-e, 4-c

Q.121 which of the following plant 
disease can be controlled by 
chemical control 

(1) Viral disease 

(2) Diseases caused by 
nematodes

(3) Fungal disease 

(4) All of these

Q.122 Assertion:- Photosynthesis in 
minimum in green light
Reason:- 
Ch lorophy l ls  are  green in  
colour.
Direction:- 
(1) Both assertion and reason 

are true and reason is correct 
explanation of assertion. 

(2) Both assertion and reason 
are true but reason is not 
cor rec t  exp lanat ion o f  
assertion.

(3) Assertion is true but reason is 
False.

(4) Assertion is false but reason 
is true
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mijksDr ladj.k dkSu lk fu;e n’kkZrk 
gS\
(1) izHkkoh y{k.k dk fu;e
(2) fodYih tksM+s dh izfr;ksa ds 

vyx&vyx gksus dk fu;e
(3) LorU=k oa’kkuqxfr dk fu;e
(4) mijksDr rhuksa fu;e

iz-124 tula[;k dks fuEu ls dkSu lk dkjd 
daVªksy djrk gS \

(1) e‘R;q&nj
(2) tUe nj 
(3) MseksxzkfQd cnyko
(4) okrkoj.k dh {kerk

iz-125 gkbMªksQksfuDl gS&
(1) ikuh esa ik, tkus okys ikS/kksa dks 

mxkuk
(2) ikuh ij rSjus okys ikS/kksa dks mxkuk
(3) feV~Vh jfgr ikS/kksa dks mxkus dh 

rduhd
(4) ikuh ds vUnj ikS/kksa dks mxkuk

¼tulkaf[;dh½ 

 Which law is depicted by the 
above cross?

(1) Law of Dominance 

(2. Law of Segregation

(3) Law of Independent Assortment 

(4) All the three

Q.124 Population size is controlled by

(1) Death rate 

(2) Birth rate

(3) Demographic transition 

(4) Carrying capacity of Environment

Q.125 Hydrophonics is-

(1) Growing of aquatic plants

(2) Growing of floating aquatic plants

(3) Soil less cultivation of plants

(4) Growing of plants inside water

iz-123

’kq) xksy 
ihys cht

’kq) >qjhnkj
gjss cht

xksy ihys xksy gjss >qjhnkj 
ihys

>qjhnkj 
gjs 

xksy o ihys cht

315 108 101 32

X

X

P

RRYY

Gamets           RY                     ry

Round 
Yellow

Round 
Green

Wrinkled 
Yellow

Wrinkled 
Green

RrYy 
(Round Yellow)

seed

RrYy

RY Ry rY ry

F1 F1

RrYy

Round yellow 
seed

wrinkled 
green 
seed

rryy

step II

step I

Q.123

315 108 101 32

X

X

P

RRYY

            RY                     ry;qXed

     ;qXed

RrYy

RY Ry rY ry

F1 F1

RrYy

rryy

step II

step I

Gamets
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2 41+3 +3

2
2 41+2 +2

1
2 41+1 +1

99
2 41+99 +99

3
2 41+3 +3

2
2 41+2 +2

1
2 41+1 +1

99
2 41+99 +99

1+  5
      2

1+  5
      2

Q.126 Of the following four numbers the 
largest is:  

210(1) 3
140

(2) 7
105(3) (17)
84(4) (31)

Q.127 The sum of 18 consecutive 
natural numbers is a perfect 
square. The smallest possible 
value of this sum is     

(1) 144

(2) 169

(3) 225

(4) 289

Q.128 The sum   

               +               +                +..

... +                     lies between

(1) 0.46 and 0.47 

(2) 0.47 and 0.48

(3) 0.48 and 0.49

(4) 0.49 and 0.50

2Q.129 If  x  - x - 1 = 0 , then the value of 
3x  - 2x + 1  is  

(1) 0

(2) 2

(3)

(4)

iz-126 fuEu la[;kvksa esa ls lcls cM+h la[;k gS

210(1) 3
140

(2) 7
105(3) (17)
84(4) (31)

iz-127 18 Øekxr izkd‘r la[;kvksa dk ;ksx 
,d iw.kZ oxZ gSA bl ;ksx dk U;wure 
laHko eku gS

(1) 144

(2) 169

(3) 225

(4) 289

iz-128 ;ksx

        +               +                +..

... +                      fuEu ds chp esa gS

(1) 0.46  0.47 

(2) 0.47  0.48

(3) 0.48  0.49

(4) 0.49  0.50

2 3iz-129 ;fn x  - x - 1 = 0 gks] rks x  - 2x + 1 dk 
eku gS
(1) 0

(2) 2

(3)

(4)

vkSj
vkSj
vkSj
vkSj
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1-  5
      2

1-  5
      2



1
16

1
12

1
8

1
6

1
16

1
12

1
8

1
6
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Q.130 If x and y are two positive real 
numbers such that their sum is 
one, then the maximum value of 

4 4x y + xy  is   

(1)

(2)

(3)

(4)

Q.131 If x % of y is equal to 1% of z, y% 
of z is equal to 1% of x and z% of 
x is equal to 1% of y, then the 
value of xy + yz + zx is   

(1) 1

(2) 2

(3) 3

(4) 4

Q.132 The value of  

 

is

(1)

(2)

(3)

(4)

iz-130 ;fn x vkSj y nks ?kukRed okLrfod 
la[;k,¡ bl izdkj gS fd mudk ;ksx 

4 4,d gS] rc x y + xy   dk vf/kdre 
eku gS

(1)

(2)

(3)

(4)

iz-131 ;fn y dk x % cjkcj gS z dk 1%, z 

dk y% cjkcj gS] x dk 1% vkSj x dk 
z% cjkcj gS y dk 1% rc xy + yz + 

zx dk eku gS

(1) 1

(2) 2

(3) 3

(4) 4

iz-132 

dk eku gS
(1)

(2)

(3)

(4)4 - 3   6

3 

3 + 4   6

4 

3 + 4   6

3 

4 + 3   6

3 

2 (  2 +  6 )

3    2 +  3 
+    2 +  3 +    2 -   3 

2 (  2 +  6 )

3    2 +  3 
+    2 +  3 +    2 -   3 

4 - 3   6

3 

3 + 4   6

4 

3 + 4   6

3 

4 + 3   6

3 



3 : 2   3

1 :   3

2 : 3   3

3 :   2

3 : 2   3

1 :   3

2 : 3   3

3 :   2

Q.133 The unit's digit of the product
1001 1002 10033  x 7  x 13

is   

(1) 1

(2) 3

(3) 7

(4) 9

Q.134 The perimeters of a reqular 
hexagon and a square are equal. 
The ratio of the area of the 
square to the area of the 
hexagon is    

(1)

(2)

(3)

(4)

Q.135 If  a ,   a ,   a , ....   1 2 3

is an arithmetic progression 
with common difference 1

and        a  = 137, theni

the value of a  + a  + a  + .... + a 2 4 6 98

is

(1) 67

(2) 83

(3) 93

(4) 98
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1001 1002 1003 iz-133 xq.kuQy 3  x 7  x 13 esa bdkbZ 
dk vad gS\

(1) 1

(2) 3

(3) 7

(4) 9

iz-134 fdlh le"kV~Hkqt vkSj ,d oxZ ds 
ifjeki leku gSaA oxZ ds {ks=kQy vkSj 
"kV~Hkqt ds {ks=kQy esa vuqikr gS

(1)

(2)

(3)

(4)

iz-135 ;fn  a ,   a ,   a , ....1 2 3

,d lekraj Js.kh gS ftldk lkoZvarj 

1 vkSj             a  = 137 i

gS] rc a  + a  + a  + .... + a dk eku 2 4 6 98 

gS

(1) 67

(2) 83

(3) 93

(4) 98

98
 

i = 1

98
 

i = 1



Q.136 ABCD is a rectangle with AD = 10 
cm. Semicircles are drawn on 
AD and BC If the shaded area is 

2100 cm , then the shortest 
distance (in cm) between the 
semi circles is   

(1) 2.5 

(2) 5 

(3) 2.5  + 5

(4) 2.5  - 2.5

Q.137 In the figure, the area of square 
2ABCD is 4 cm  and E any point on 

AB. F, G, H and K are the mid 
point of DE, CF, DG, and CH 
respectively. The are of   KDC is

  
(1)

(2)

(3)

(4)

Q.138 If 

then the value of P is  

  

(1)

(2)

(3)

(4)

p

p

p

p
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iz-136 ABCD ,d vk;r gS ftlesa AD = 10 

lseh gS vkSj AD rFkk BC ij v/kZo‘r 
[khaps x, gSaA ;fn Nk;kfdar {ks=kQy 

2100 lseh  gks rks v/kZo‘rksa ds chp dh 
lcls de nwjh ¼lseh esa½ gS \

(1) 2.5 

(2) 5 

(3) 2.5  + 5

(4) 2.5  - 2.5

iz-137 vkd‘fr esa] oxZ ABCD dk {ks=kQy 4 
2lseh  gS vkSj E, AB ij ,d fcanq gSA 

F, G, H vkSj K Øe’k% DE, CF, DG, 

vkSj CH ds eè;fcanq gSaA   KDC dk 
{ks=kQy gS

(1)

(2)

(3)

(4)

iz-138 ;fn 

                       

rks P dk eku gS 

(1)

(2)

(3)

(4)

p

p

p

p

 gS 

A

B

D

C

A

B

D

C

2cm

2cm

2cm

2cm

1
4

1
8

1
16

1
32

2lseh

2lseh

2lseh

2lseh

1
4

1
8

1
16

1
32

P +   3  Q  +   5  R +   15  S 
P +   3  Q  +   5  R +   15  S 

1

1 +  3 +  5 
= 1

1 +  3 +  5 
=

- 1
11

- 2
11

7
11

 3
11

- 1
11

- 2
11

7
11

3
11

A E

F

G

H
K

D

B

C

A E

F

G

H
K

D

B

C



2 2 0 0iz-139 ;fn sec    + tan   = 2, 0  <   < 90  
2 2  gks] rks cosec   + cot  dk eku gS 

(1) 2

(2) 3

(3) 4

(4) 5

2iz-140 ;fn p x  + 2qx + r = o vkSj 
2

qx  -2  pr x + q = o ds ewy ,d lkFk 
okLrfod gksa] rks  

(1)

(2)

(3)

(4)

iz-141 ;fn ,d yac o‘Ùkh; ’kadq] ftldh 
frFkZd ÅapkbZ   gS vkSj ,d yac o‘Ùkh; 
csyu dh leku f=kT;k,¡ r, vkSj leku 
dqy i‘"Bh; {ks=kQy rFkk mudh 
Åapkb;k¡ Øe’k% vkSj gS] rc 

iz-142 A(-4,1), B (2,-1) vkSj C (1,k) f=kHkqt 
ABC ds ’kh"kZ gSa k ds laHko ekuksa dh 
la[;k ftlls   ABC ,d lef}ckgq 
f=kHkqt gks] fuUu gSa

(1) 1

(2) 3

(3) 5

(4) 4

' h h

'(1) h/h

'(2) 2 h/h

'(3) h/2 h

'(4) 2 h /h 

0 0 0

0 0
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2 2 0 0
Q.139 If sec    + tan   = 2, 0  <   < 90 , 

2 2then the value of cosec   + cot   
is   

(1) 2

(2) 3

(3) 4

(4) 5
2Q.140 If the roots of p x  + 2qx + r = o 

2and qx  -2 pr x + q = o are 
simultaneously real, than    

(1)

(2)

(3)

(4)

Q.141 If a right circular cone, with slant 
height   , and a right circular 
cylinder have the same radius r,  
same total surface area and 
heights h and  respectively, 
then 

 

'(1) h/h

(2) 2 h/h

(3) h/2 h

(4) 2 h /h 

Q.142   ABC has vertices A(-4,1), B (2,-
1) and C (1,k). The number of 
possible values for k such that 
the triangle is isoscles is    

(1) 1

(2) 3

(3) 5

(4) 4

'h

'

'

'

0 0 0
0 0

p = q, r    o

2
pr = q  

2q =   pr

2p =   qr

p = q, r    o

2
pr = q  

2q =   pr

2p =   qr

=
   - r

  + r =
   - r

  + r



2
3

2
3
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iz-143 ,d d{kk esa dqN yM+ds o dqN 
yM+fd;k¡ gSaA muesa ls ,d fo|kFkhZ dks 
;kn‘PN; pquk tkrk gSA ;fn yM+ds ds 
pqus tkus dh izkf;drk yM+dh ds pqus 
tkus dh izkf;drk dk   gks] rks 
yM+dksa dh la[;k dk d{kk ds lHkh 
fo|kfFkZ;ksa dh la[;k ls vuqikr gS\

(1) 1 : 3

(2) 2 : 5

(3) 3: 5 

(4) 2 : 3

iz-144 vkd‘fr esa vk;r ABCD dk DB ,d 
fod.kZ gS A ls gksdj js[kk   vkSj C ls 
gksdj js[kk m, DB dks rhu cjkcj 
Hkkxksa esa ckVrha gS ftuesa ls izR;sd Hkkx 
dh yackbZ 1 lseh gSA vkSj DB ij yac 
Hkh gSA vk;r ABCD dk {ks=kQy 

2 ¼leh esa ½ gS \

(1) 2   2

(2) 2   3

(3) 3   2

(4) 3   3

6 3iz-145 x  + 10x  - 27 dk ,d xq.ku[kaM gS

2
(1) x  -  x + 3

2(2) x  -  x - 3

2(3) x  +  x - 3

2
(4) x  +  x + 3

Q.143 In a class of boys and girls, an 
student is chosen at random. If 
the probability that a boy is 
chosen is   of the probability 
that a girl is chosen, the ratio of 
the number of boys to the total 
number of students is the class 
is  

(1) 1 : 3

(2) 2 : 5

(3) 3: 5 

(4) 2 : 3

Q.144 In the figure, DB is a diagonal of 
rectangle ABCD and line   
through A and line m through C 
divide DB in three equal parts 
each of length 1 cm and are 
perpendicular to DB Area (in 

2
cm ) of rectangle ABCD is 

 

(1) 2   2

(2) 2   3

(3) 3   2

(4) 3   3

6 3
Q.145 One of the factors of x  + 10x  - 27 

is    

2(1) x  -  x + 3

2
(2) x  -  x - 3

2
(3) x  +  x - 3

2(4) x  +  x + 3

<

<<

<

A B

CD
m

<

<<

<

A B

CD
m
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Q.146 What was the theme of the 
Printing of Frederic Sorrieu

(1) Democratic

(2) Socialistic

(3) Capitalistic 

(4) None of above

Q.147 Germany was unified in 

(1) 1870

(2) 1871

(3) 1872 

(4) 1873

Q.148 Who said, "When France 
sneezes the rest of the Europe 
catches cold"

(1) Garibaldi

(2) Mazzini

(3) Matternich 

(4) Bismarck

Q.149 Who was Paul Bernard?

(1) Economist

(2) Social Worker

(3) Social reformer

(4) Capitalist

Q.150 Which the following was the 
most important cash crop of 
Vietnam:-

(1) Sugarcane
(2) Cotton
(3) Rice 
(4) Tea

iz-146  ÝsMfod lj;w dh isfVax dk eq[; 
fo"k; D;k Fkk%&

(1) iztkrU=k

(2) lektokn

(3) iw¡thokn

(4) buesa ls dksbZ ugha

iz-147 teZuh dk ,dhdj.k fuEu fdl o"kZ esa 
gqvk%&

(1) 1870

(2) 1871

(3) 1872 

(4) 1873

iz-148 ;g ’kCn fdlus dgs ^^tc Ýkal dks 
Nhad vkrh gS rks lEiw.kZ ;wjksi dks 
tqdke gks tkrk gS**

(1) xSjh ckYMh

(2) esftuh

(3) eSfVªfud

(4) fcLekdZ

iz-149 ikWy ckukZM dkSu Fks\

(1) vFkZ’kkL=kh

(2) lekftd dk;ZdÙkkZ

(3) lekt lq/kkjd

(4) iw¡thifr

iz-150 fo;ruke dh udnh ¼dS’k½ Qly 
fuEu esa ls dkSu lh gS%&
(1) xUuk
(2) dikl
(3) pkoy
(4) pk;
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Q.151 Why was non cooperation 
movement called off by Gandhiji

(1) Due to chauri-chaura 
violence

(2) Due to protest against 
British Empire

(3) Due to opposition of Muslim 
League 

(4) Due to British Pressure

Q.152 The Jallianwala Bagh incident 
place on

th
(1) 13  April 1910

(2) 13  April 1912

(3) 13  April 1917

(4) 13  April 1919

Q.153 The Poona Pact was signed 
between ______and _____

(1) Jawahar Lal Nehru - 
Mothilal Nehru

(2) Mahatma Gandhi - Lord 
Irrwin

(3) Mahatma Gandhi - B. R. 
Ambedkar 

(4) Mahatma Gandhi - Mount 
batten

Q.154 Who said. "Printing is the 
ultimate gift of God and the 
greatest one".  

(1) Charles Dickens

(2) J. V. Schely

(3) Mahatma Gandhi

(4) Martin Luther

th

th

th

iz-151 xk¡/khth us vlg;ksx vkUnksyu fuEu 
fdl dkj.k ls lekIr fd;k%&

(1) pksjh pksjk gR;kdkaM

(2) vaxzsth ’kkld ds fojks/k esa

(3) eqfLye yhx ds fojks/k ds dkj.k 

(4) vaxzsth ljdkj ds ncko ds 
dkj.k

iz-152 tkfy;k¡okyk ckx dh ?kVuk fdl o"kZ 
esa ?kVh%&

(1) 13  1910

(2) 13  1912

(3) 13  1917

(4) 13  1919

iz-153 iwuk iSDV fuEu fdu ds chp dk Fkk 

(1) tokgj yky usg: o eksrh yky 
usg:

(2) egkRek xk¡/kh o ykMZ bjfou

(3) egkRek xk¡/kh o ch- vkj- 
vEcsMdj 

(4) egkRek xk¡/kh o ekÅV cSVu

iz-154 ;g fdlus dgk] ̂ ^eqnz.k bZ’oj dh nh 
gqbZ egkure nsu gSa rFkk lc ls cM+k 
rksgQk**\

(1) pkYlZ fMdsUl

(2) ts- oh- lSys

(3) egkRek xk¡/kh 

(4) ekfVZu ywFkj

vizSy

vizSy

vizSy

vizSy
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Q. 155 Who amongst the following 
ruled over Sardinia-Pied mont 
during the middle of the 
nineteenth century. 

(1) Austrian Habsburg

(2) Italian Princely house

(3) Pope

(4) Bourbon kings of spain

Q.156 W h i c h  o f  t h e  f o l l o w i n g  
C o u n t r i e s  h a s  b r i e f e s t  
constitution?

(1) USA

(2) China

(3) India

(4) Japan

Q.157 Who is known as Frontier 
Gandhi?

(1) M. A. Jinha

(2) Khan Abdul Gaffar Khan

(3) Shekh Abdulla

(4) Liakat Ali

Q.158 W h i c h  o f  t h e  f o l l o w i n g  
statement is true about India?

(1) India is a Unitary System

(2) India has true federal 
system

(3) India is union of states

(4) India is confederation

Q.159 Who is at present Dy. Chairman 
of Planning Commission?

(1) P. Chidambaram

(2) Montek Singh Ahluwalia

(3) Trilok Singh

(4) Jai Pal Reddy

iz-155 mUuhloha ’krkCnh ds eè;dky esa fuEu 
esa ls dkSu ljfMfuek & iSaMekÅaV ij 
’kklu djrs Fks%&

(1) vkLVªf;u gSClcxZ

(2) bVyh ds jktoa’k

(3) iksi

(4) Lisu ds cksjcksu jktk

iz-156  fuEu esa ls fdl ns’k dk lafo/kku 
lcls y?kq gS\

(1) vesfjdk

(2) phu

(3) Hkkjr

(4) tkiku
iz-157 fuEu esa ls lhekUr xka/kh fdldks dgk 

tkrk gS\
(1) ,e- ,- ftUgk
(2) [kku vCnwy xQkj [kku
(3) ’ks[k vCnqYyk
(4) fy;kdr vyh 

iz-158 fuEu esa ls Hkkjr ds fy, dkSu lk 
dFku lgh gS\
(1) Hkkjr esa ,dkRed O;oLFkk gSA
(2) Hkkjr esa vkn’kZ la?kkRed 

O;oLFkk gSA
(3) Hkkjr jkT;ksa dk lewg gSA
(4) Hkkjr ,d egkla?k gSA

iz-159 orZeku esa fuEu esa ls ;kstuk vk;ksx 
dk mik/;{k dkSu gS\
(1) ih- fpnEcje
(2) eksUVsd flag vgywokfy;k
(3) f=kyksd flag
(4) t;iky jsM~Mh
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iz-160 fuEu esa ls dkSu lk lafo/kku la’kks/ku 
ny cny fojks/kh dkuwu dgykrk gS\

(1) 42ok¡

(2) 44ok¡

(3) 52ok¡

(4) 61ok¡

iz-161 eaMy deh’ku ds rgr fiNM+siu ds nks 
eq[; vk/kkj D;k Fks\

(1) lkekftd o ’kS{kf.kd

(2) lkekftd o vkfFkZd

(3) lkaLÑfrd o /kkfeZd

(4) Hkk"kk;h o /kkfeZd

iz-162 dkaxzsl dk o;kso‘) O;fDr fdls dgk 
tkrk Fkk\

(1) nknk HkkbZ uksjksth

(2) xksiky Ñ".k xks[kys

(3) fQjkst ’kkg esgrk

(4) ,l- ,u- cuthZ

iz-163 fuEu esa ls ekSfyd vf/kdkjksa ds lEcU/k 
esa dkSu lk dFku lgh ugha gS\

(1) ;s vlhfer gSaA

(2) ;s lafo/kku ds rhljs Hkkx esa fn;s 
x;s gSaA

(3) bl le; budh la[;k  gSA

(4) ;s vesfjdk ds lafo/kku ls fy;s 
x;s gSaA

iz-164 fuEu esa ls xzkeh.k {ks=k esa dkSu lh 
lcls NksVh iz’kklfud bZdkbZ gS\

(1) uxjikfydk
(2) iapk;r lfefr
(3) xzke iapk;r
(4). ftyk ifj"kn

6

Q.160 W h i c h  o f  t h e  f o l l o w i n g  
amendement is known as Anti-
defection Law

nd(1) 42
th

(2) 44
nd

(3) 52
st

(4) 61

Q.161 What were the two basis of 
backwardness under Mandal 
Commission?

(1) Social and Educational

(2) Social and Economic

(3) Cultural and 

(4) Linguistic and Religious

Q.162 Who was known as Grand Old 
Man of India?

(1) Dada Bhai Nauroji

(2) G.K. Gokhle

(3) Feroj Shah Mehta

(4) S. N. Benergy

Q.163 Which of the following is not true 
about Fundamental Rights?

(1) These are absolute.

(2) These are given in third 
part of constitution

(3) At present they are six in 
number.

(4). They were taken from USA.

Q.164 Which of the following is the 
smallest administrative unit in 
rural area?

(1) Municipal Committee

(2) Panchayat Samiti

(3) Village Panchayat

(4) Zila Parishad

Religious
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iz-165 lwpuk ds vf/kdkj ds lEcU/k esa fuEu 
esa ls lgh dFku ugha gSA

(1) ;g O;fDr;ksa dks l’kDr djrk 
gSA

(2) ;g ikjnf’kZrk dks c<+krk gSA

(3) ;g lq’kklu dks c<+krk gSA

(4) ;g ukSdj’kkgh ds fo:) gSA

iz-166  lgh ;qXe cukb,A

A- ,d B.Mh /kkjk (i) csaxq,yk
B- ,d xeZ /kkjk (ii) ekst+kEchd
C- vVykfUVd egklkxj 

esa u cgus okyh /kkjk 

D- vÝhdk ds nf{k.k&iwohZ 
rV ds lkFk cgus okyh /kkjk 

(1) A-(i) B-(ii) C-(iii) D-(iv)

(2) B-(i) C-(ii) D-(iii) A-(iv)

(3) A-(iii) B-(i) C-(iv) D-(ii)

(4) A-(iv) B-(ii) C-(iii) D-(i)

iz-167 leksPp js[kk,¡ n’kkZrh gSa &

(1) o"kkZ dh leku ek=kk ntZ djus 
okys LFkkuksa dksA

(2) rkieku dh leku fMxzh izkIr 
djus okys LFkkuksa dksA

(3) vkSlr leqæ ry ls leku 
Å¡pkbZ ij fLFkr LFkkuksa dksA

(4) leku ek=kk esa lw;Z izdk’k izkIr 
djus okys LFkkuksa dksA

(iii) is: /kkjk

(iv) vxqygkl

Q.165 Which is not true about R.T.I. 
(Right to Information)?

(1) It empowers people.

(2) It promotes transparency

(3) It promotes good 
governance

(4) It is against bureaucracy

Q.166 Make the eight pairs.

A. A cold current (i) Benguela

B. A warm current (ii) Mozamque

C. A current not 
flowing in Atlantic  
ocean 

D. A current that 
flows along 
south-east coast 
of Africa   

(1) A-(i) B-(ii) C-(iii) D-(iv)

(2) B-(i) C-(ii) D-(iii) A-(iv)

(3) A-(iii) B-(i) C-(iv) D-(ii)

(4) A-(iv) B-(ii) C-(iii) D-(i)

Q.167 Contour lines represent -

(1) Areas recording same 
amount of rainfall

(2) Areas having same degree 
of temperature

(3) Areas having same height 
above mean sea level

(4) Areas receiv ing same 
amount of sunlight

(iii) Peruvian 
current 

(iv) Agulhas
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iz-168 fuEufyf[kr esa ls t+ksft+&yk ¼njkZ½ 
fdu nks LFkkuksa dks tksM+rk gS\
(1) ysg & Jhuxj
(2) tEew & djfxy
(3) usiky & flfDde
(4) HkwVku & v:.kkpy izns’k
iz-169 fuEufyf[kr ufn;ksa o muds mn~xe 
LFkyksa ds lgh ;qXe cukb, &
A lryqt 1 czãfxfj
B >sye 2 vejdaVd
C dkosjh 3  jk{klrky
D ueZnk 4 osjhukx

(1)  A-3, B-4, C-1, D-2

(2) A-3, B-1, C-2, D-4

(3) A-2, B-4, C-1, D-3

(4) A-3, B-2, C-1, D-4

iz-170 lgh mÙkj dk p;u djsaA

A Hkkjr dk dkWVuksiksfyl & eqEcbZ

B Hkkjr dh flyhdkWu oSyh & cSaxyksj 

C mÙkjh Hkkjr dk ekupsLVj & dkuiqj

D Hkkjr dk MsVªk;V & eksnh uxj

(1) lHkh fodYi ogh gSaA

(2) dsoy B o D lgh gSa

(3) dsoy A o B lgh gSa

(4) A, B o C lgh gSaA
iz-171 Hkkjr dh tux.kuk 2011 ds vuqlkj 
fuEufyf[kr pkj jkT;ksa esa ls fdl jkT; dk 
tula[;k ?kuRo lokZf/kd gS\
(1) fgekpy izns’k
(2) tEew vkSj d’ehj
(3) ef.kiqj
(4) ukxkyS.M

dsoy 

Q.168 Zozi-La (Pass) connects which 
two places out of the following?

(1) Leh - Shrinagar

(2) Jammu - Kargil

(3) Nepal - Sikkim

(4) Bhutan - Arunachal Pradesh

Q.169 Make right pairs of following 
rivers and their places of origin -

A Satluj 1 Brahmgiri

B Jhelum 2 Amarkantak

C Kaveri 3 Rakshastal

D Narmada 4 Verinag

(1)  A-3, B-4, C-1, D-2

(2) A-3, B-1, C-2, D-4

(3) A-2, B-4, C-1, D-3

(4) A-3, B-2, C-1, D-4

Q.170 Choose the right answer.

A Cottonopolice of India - Mumbai

B Silicon valley of India - Bangalore

C Manchester of North India - Kanpur

D Detroit of India - Modi Nagar

(1) All the options are right

(2) Only B and D are right

(3) Only A and B are right

(4) Only A, B and C are right

Q.171 As per census of India 2011 
which one of the following four states 
has highest density of population?

(1) Himachal Pradesh

(2) Jammu & Kashmir

(3) Manipur

(4) Nagaland
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iz-172 tSo fofo/krk ds ckjs lgh dFku dk 
p;u dhft,A
A.  tSo fofo/krk ouksa esa lokZf/kd gksrh gSA

B. ;g fdlh {ks=k fo’ks"k ds dsoy iknitkr 
dks bafxr djrh gSA

C. ;g fdlh {ks=k fo’ks"k ds iknitkr ,oa 
izkf.ktkr dh fofHkUu iztkfr;ksa ls 
lEcfU/kr gSA

D. ;g fdlh {ks=k esa ikbZ tkus okyh ,d 
fo’ks"k iztkfr ds O;fDr;ksa dh dqy la[;k 
dks n’kkZrh gSA
(1) A o B nksuksa Bhd gSaA
(2) B o C nksuksa Bhd gSaA
(3) C o D nksuksa Bhd gSaA
(4) A o C nksuksa Bhd gSaA

iz-173  Hkkjr us if’peh ?kkV ds ioufoeq[kh 
Hkkx esa o‘f"V Nk;k izns’k jgus dk izeq[k dkj.k 
gS&

(1) izdh.kZ ouLifr
(2) c<+rk rkieku
(3) c<+rh vkæZrk
(4) c<+rk ok;qe.Myh; nkc

iz-174  dkSu lk cy mÙkjh xksyk)Z esa iouksa dks 
nkb± fn’kk esa eksM+ nsrk gS\

(1) xq:Rokd"kZ.k cy
(2) vidsUæh; cy
(3) dkWfjvkfyl cy
(4) vfHkdsUæh; cy

iz-175 nf{k.k Hkkjr dh tyok;q ds ckjs esa 
dkSu lk ,d rF; lgh ugha gS\
(1) ;gk¡ nSfud rkikUrj de jgrk gSA
(2) tyok;q dh fo"ke ifjfLFkfr;k¡ ikbZ tkrh gSA
(3) ;gk¡ okf"kZd rkikUrj de jgrk gSA
(4) rkieku lkjk o"kZ Å¡ps jgrs gSaA

Q.172 Select right statement regarding 
biodiversity.

A. Biodiversity is maximum in 
forests.

B. It refers to only flora of a particular 
area.

C. It is related to various species of 
flora and fauna of a particular area

D. It represents the total number of 
individuals of particular species 
living in an area.

(1) A and B both are right.

(2) B and C both are right.

(3) C and D both are right.

(4) A and C both are right.

Q.173 The main cause of existence of 
rain-shadow area on leeward side of 
Western Ghat of India is -

(1) Scattered vegetation

(2) Increasing temperature

(3) Increasing humidity

(4) Increasing atmospheric pressure

Q.174 Which force is responsible for 
deflecting winds towards the right 
direction in the northern hemisphere?

(1) Gravitational force
(2) Centrifugal force
(3) Coriolis force
(4) Centripetal force

Q.175 Which one is not a fact regarding 
climate of South India?
(1) Diurnal range of temperature is less.
(2) Heterogeneous climatic conditions 

are found
(3) Annual range of temperature is less
(4) Temperatures are high throughout 

the year.
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Q.176 Human development index 
compares countries based on which of 
the following level of people?

a. Per capita income

b. Education level

c. Health status

d. Gender ratio
(1) a,b,c
(2) b,c,d
(3) a,c,d
(4) All of the above

Q.177 Gross Domestic Product (GDP) 
is the total value of :
(1) All intermediate goods and services
(2) All goods and services
(3) All final goods and services
(4) All intermediate and final goods and 

services
Q.178 Which of the following was the 
objective of NREGA 2005

(1) to control the unorganised sector in 
rural India.

(2) to provide 100 days employment in a 
year by the government.

(3) to control the flow of money from 
private sector to public sector.

(4) to increase production in primary 
sector.

Q.179 Formal sources of loans include 
loans from (a) Banks (b) Money lenders 
(c) Co-operatives socities (d) Traders

(1) a and  b

(2) a  c

(3) b  c

(4) a  d
Q.180  Which one of the following has 
benefitted least because of 
globalisation in India
(1) Industrial Sector
(2) Service Sector
(3) Secondary Sector
(4) Agriculture Sector

and

and

and

iz-176  fuEufyf[kr vk/kkjksa esa ls fdl vk/kkj 
ij ekuo fodkl lwpdkad ns’kksa dh rqyuk 
djrk gS\
a. izfr O;fDr vk;
b. f’k{kk dk Lrj
c. LokLF; dk Lrj
d. fyax vuqikr

(1) a,b,c
(2) b,c,d
(3) a,c,d
(4) mijksDr lHkh

iz-177 ldy ?kjsyw mRikn dqy ewY; gS %
(1) lHkh e/;orhZ oLrqvksa o lsokvksa dk 
(2) lHkh oLrqvksa o lsokvksa dk
(3) lHkh vfUre oLrqvksa o lsokvksa dk
(4) lHkh e/;orhZ o vfUre oLrqvksa rFkk 
lsokvksa dk
iz-178 fuEufyf[kr esa ls ujsxk (NREGA) 

2005 dk mís’; D;k Fkk\
(1) xzkeh.k Hkkjr esa vlaxfBr {ks=k dks 

fu;fU=kr djus ds fy,
(2) ljdkj }kjk csjkstxkjksa dks ,d o"kZ esa 

100 fnu dk jkstxkj nsus ds fy,
(3) futh {ks=k ls lkoZtfud {ks=k dh vksj eqæk 

ds izokg dks fu;fU=kr djus ds fy,
(4) izkFkfed {ks=k esa mRiknu c<+kus ds fy,
iz-179 _.kksa ds vkSipkfjd L=kksarksa esa  
lfEefyr gS & (a) cSad (b) lkgwdkj  (c) lgdkjh 
lfefr;k¡  (d ) O;kikjh
(1) a  b

(2) a  c

(3) b  c

(4) a  d

iz-180  Hkkjr esa oS’ohdj.k dk YkkHk lcls de 
fdl {ks=k dks feyk\
(1) vkS|ksfxd {ks=k
(2) lsok {ks=k
(3) f}rh;d {ks=k
(4) Ñf"k {ks=k

vkSj
vkSj
vkSj
vkSj
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